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* Underlined words in the script are the answers to the
Dictation exercise.

CHAPTER O1

Main Purpose/Topic

Example
A.(C) B. (A)
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Note-taking

S: Biology dept. has opening for part-time employee?

P: Work as lab assistant? "." previous assistant graduated
S: Want to graduate next yr. .. lab = good exp.

P: Go to employment office — fill out forms — start

Listen to a conversation between a student and a
professor.

S: Hi, Professor Hoffman. Do you have a moment?
P: Sure, Ashley. How can | help you today?

S: | was wondering if the biology department has
any openings for part-time student employees.

P: Actually, you came at the perfect time. How would
you like to work as a laboratory assistant? The
previous assistant just graduated and we need
someone to replace him.

S: That would be great! | want to apply to graduate
school next year. So working in a laboratory
would be a good experience to have.

P: Excellent. You’ll need to go to the student
employment office to fill out a few forms. Once
that's complete, you can get started.
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Note-taking
Impact of Research Project

® Robot was sent 5 km below surface of Pacific

e Collected creatures (e.g. worms & jellyfish)

e Showed that deepest ocean = lifeless place X

e Effect on companies work in deep-sea mining
- Have to make sure activities harm X species

Listen to part of a lecture in an environmental
science class.

P: OK... Let’s talk about a recent research project,
and why its findings are important. So, um, a
robot was sent five kilometers below the surface
of the Pacific Ocean. It collected a variety of
creatures, including worms and jellyfish. In total,
scientists found 39 previously undiscovered
species. These findings changed the way we
think about the ocean. They showed that the
deepest part of the ocean is not a lifeless place.
In fact, it is home to many different organisms.
The findings also have had an effect on
companies that work in deep-sea mining... Um,
this refers to the gathering of minerals from the
bottom of the ocean. The companies now have to
make sure that their activities do not harm those
species living in the ocean’s depths.
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Listening Practice 1 22p.17
1¢) 2B 3(C) 4(A) 5B

Note-taking
W: Account locked . unpaid fees — borrow X until paid
More than 3 weeks late .. school locked account
M: Friend = library card X .. checked out for her
She is in Spain — back next week
Need books for research paper .. what if | pay?
W: Expensive = $55, increase by $2/day
Call payment office *.© might unlock account
Take 1 or 2 days — use account by Tuesday
Read books in library?
Can have coffee and snack, leave a mess X

Listen to a conversation between a student and a
librarian.

M: I'd like to check out these books, please. Here is
my student ID.

W:Um... 'I'm sorry, but your account has been
locked. It seems that you have unpaid fees. So
you can’t borrow more books until the fees have

been paid.

M: | don’t think | have any books checked out. And
| usually return everything on time. Could you
check what the problem is?

W:2Well, you were supposed to return a book called
Literary Theory on February 26. It's more than
three weeks late, so the school locked your
account.

M: Oh, now | remember. My friend needed to borrow
that book, but she didn’t have her library card. So
| checked it out for her, instead. She must have
forgotten to bring it back... And now, she is on
vacation in Spain.

W:When will she be back?

M: She’ll be back sometime next week. *But | need
these books for my research paper. It's due next
Friday, so | can’t wait that long. What if | pay for
the late fees?

W:You can do that, but they are quite expensive.
The book is more than three weeks late, so the
fees are $55.

M: Did you say $55? You've got to be joking!

W:No, I'm afraid not. And that will increase by $2
each day until it's paid.

M: | don’t have enough money to pay that right now.

W:Then... “Maybe you can call the payment office

and explain your situation. They might be able to
unlock your account. You should definitely try...

M: All right, | will. It was just a mistake. Maybe I'll get
lucky and they’ll help me. Do you know how long
it would take to unlock my account?

W: It usually takes one or two days. | think you would
be able to use your account again by Tuesday.

M: Oh... That would be too late. Is there anything

else | can do?

W:SWell, why don’t you just read those books here
in the library? There are plenty of quiet spaces
you can use. The desks are comfortable, and you
won’t hear any noise from outside.

M: OK. That sounds like the best option. Oh, but,
um, can | bring coffee and a snack with me?

W:Sure. You can have coffee and a small snack.
But be careful not to leave a mess or disturb the
other library users. You can take any desk that’s
available.

M: All right, then. Thank you for being so helpful.
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Listening Practice 2 22p.19
1(C) 2(C) 3(A) 4(C) 5(B)

Note-taking
Role of Genetics in Body Weight

* Body weight influenced more by genetics > behavior
e Small genetic difference — a lot of physical diversity
® At least 52 genes affect body weight
- Each person loses weight @ different speed
e Gene related to weight control = skinny gene
- Individuals w/ active skinny gene = thinner
e Species w/ variety of body types = better survive
- When lots of food — thin ppl. = healthier
- When resources limited — store body fat = advantage

AEE Z0iF = LSt 8t AI2 M2 HackersBook.com

Listen to part of a lecture in a physiology class.

P: Most people believe that they have the ability
to control their weight. Um, they think that
losing weight is simply about eating less food or
exercising more often. 'However, recent research
suggests that body weight is influenced more by
genetics than by behavior. This is what | want to
talk about today.

Let’s start with an overview... 2As I’'m sure you
know, about 99.9 percent of human DNA in all
humans is the same. What this means is that
there isn’t much difference between your genes
and everyone else’s genes. But, uh, even this
small amount of genetic difference resulis in a lot
of physical diversity. In fact, it is responsible for
everything that makes one person different from
another. And this includes how easy it is to gain
weight and how difficult it is to lose it.

S: Is this why some people can eat lots of food and
never gain weight?

P: That’s partly correct. However, lifestyle also plays
a key role... Anyway, researchers know that
there are at least 52 individual genes that affect
body weight. And each person has a different
combination of these genes. 5So imagine that
you make 50 people eat the same amount of
calories and do the same amount of exercise.
Each person will lose weight at a different speed.
Now, don’t get me wrong... Obviously, diet and
exercise are important for losing weight. But,
because of genetic differences, some people
must exercise more to burn the same number
of calories as others. Studies of identical twins
have also confirmed that genes have a stronger
role than behavior. lIdentical twins have the same
genes, and research has shown that they will
have similar body weights throughout their lives.
This is true even when one of them exercises
regularly and the other does not.

OK... Now, | want to look at a specific gene
related to weight control. Um, it’s called the “skinny
gene.” Uh, some people have this gene and
others do not... Generally, people with the skinny
gene do not gain weight easily. 3And, uh, the gene
is also less active in obese people. Researchers
have also discovered that individuals with active
skinny genes are thinner than others, even if they
consume the same amount of food.

But why do some people have this gene and
others do not? How does this make sense for
human evolution? “Well, it makes sense because
a species with a variety of body types is better
able to survive through changes in environmental
conditions. When there is lots of food, thin people
are generally healthier. However, when resources
are limited, those who can easily store body fat
have an advantage. Either way, the species will
continue...
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P: So imagine that you make 50 people eat the same amount of
calories and do the same amount of exercise. Each person
will lose weight at a different speed. Now, don’t get me
wrong... Obviously, diet and exercise are important for losing
weight.
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Listening Practice 3
1(A)  2(C) 3(B) 4(©C) 5(D)
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Note-taking

S: This is my 1st psychology course — tell more about it

P: 1st week = overview of psychology & how ppl. use
Different topics in psychology (e.g. brain & behavior)
Lastly, section about reasoning & decision-making
Introductory course ... topics in much detail X
Work in groups on research project — present

S: Any individual research papers?

P: 2 individual research papers, five pages each
Papers = 10%, group project & midterm = 20% each
Final = 40%, attendance = rest of grade

Listen to a conversation between a student and a
professor.

S: Hi, um... Professor Stone? 'Uh, I'll be taking your
Psychology 101 class this semester. This is my
first psychology course, so | was hoping you
could tell me more about it.

CHAPTER 01 | Main Purpose/Topic
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: Well, in the first week, there will be an overview of
what psychology is and how people use it. Then,
we will look at different topics in psychology. Um,
this will include the brain and behavior. Lastly, the
course will end with a section about reasoning
and decision-making.

: That’s quite a lot! 2Will we be able to cover

everything in just four months?

: Yes, of course. Since this is an introductory
course, we won't study any of the topics in much

detail. It's just a basic introduction.

: | see. And will most of our assignments be
reading from a textbook?

: SActually, you won’t be needing any textbooks

for this class. We will mostly be discussing basic

topics. So we will be using short academic articles
and some videos. | will probably recommend
some free online resources as well.

: That's a relief. Uh, how many hours per week will
we need to study for this class?

: Well, it depends on how quickly you read. In
general, | would say two to three hours for each
lecture.

: OK. Um, | also heard most of the psychology
courses have at least one group project. Are we
going to have one as well? Or will we do all of the
assignments by ourselves?

:*You'll work in groups on a research project.
Then, each group will present their project to the
class toward the end of the semester.

: That sounds great. I've always loved working with
a team. Will you assign any individual research

o X e W@D\O% Rl | i [ 1

papers?
: Yes, there will be two individual research papers.
But they will only be about five pages each.

: °0Oh, no. I'm not very good at writing papers, so |

hope they aren’t a big part of our grade.

: Papers are 10 percent of your grade. The group
project and midterm exam are 20 percent each.

The final exam is 40 percent, and attendance

makes up the rest of your grade.

: Wow, this is a lot to remember. | hope | don’t
forget anything. | want to major in psychology, so
this class is really important to me.

: Don’t worry. Everything you need to know will be
in the course outline. If you come to each class
on time and try your best, I'm sure you’ll do well.
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Listening Practice 4
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Note-taking
Ethical Consumerism

e Ethical Consumerism = buy based on ethical reasons
- One company pays fair amount of money
- The other company pays as little as possible
- Ethical consumer = choose from 1st company
e Choose not to buy from companies behave unethically
e Most familiar method = buying organic products
- Not made w/ harmful chemicals, organic label
e Look for “fair trade” label
e Buy more local products = environmentally friendly

Listen to part of a lecture in an economics class.

P:

Last week, | mentioned the idea of economic
activism. Um, that is when people try to change a
situation by choosing what to spend their money
on. 'Well, today’s topic is similar to that. It is
called ethical consumerism.

Ethical consumerism is a way of selecting which
products to buy based on ethical reasons. Um,
we all have different reasons for buying products.
Sometimes, we buy products because they are
cheap. Other times, we buy products, uh, just
because they make us feel better. 2Well, ethical
consumerism is about buying products that do
the smallest amount of harm to society or the
environment. Um, let me give you an example...
Imagine that there are two coffee companies that
buy coffee beans from farmers. One company
recognizes that growing coffee beans is hard
work. So it pays farmers a fair amount of money.
However, the other company wants to pay as
little as possible to save on costs. So it pays the
coffee growers a low amount even if this hurts the
farmers. An ethical consumer would choose to
buy coffee from the first company. And, through

this, they are encouraging all coffee companies to
pay farmers a fair amount of money.

Ethical consumerism can also work the other
way. Ethical consumers can also choose not to
buy from companies that behave unethically. For
instance, if a company pollutes the environment,
ethical consumers can choose to stop buying
that company’s products. That way, they can
encourage companies to protect the environment.
Um, so, as an ethical consumer, you have to
think carefully about which products you buy...
The money you spend can help the right kind of
company succeed... It can help the wrong kind of
company fail.

S: 5Uh, but there are so many different products
these days. How can a consumer know which
ones to support and which ones to avoid? | mean,
it seems impossible to know everything about all
companies.

P: It does seem complex, doesn’t it? But it's not as
difficult as you might think... Um, perhaps the
most familiar method of ethical consumerism is
buying organic products. Organic products are
considered a type of ethical product because
they are not made with harmful chemicals or in
places that treat animals badly. *®Just look for the
organic label on product packaging. An organic
label tells us that a product was made with ethical
methods. PSimilarly, you can look for something
called a “fair trade” label. The label shows that a
company follows strict social and environmental
standards. These standards include good
working conditions and fair prices that help small
businesses compete with large companies. “And,
lastly, you can also buy more local products.
Local products are usually more environmentally
friendly because they don’t have to be sent long
distances. So less fuel is used and less pollution
is released into the atmosphere.
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S: Uh, but there are so many different products these days.
How can a consumer know which ones to support and
which ones to avoid? | mean, it seems impossible to know
everything about all companies.

P: It does seem complex, doesn’t it? But it's not as difficult as
you might think...
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P: It does seem complex, doesn't it?
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Note-taking

: Prof. Hane not here right now

: Have to talk about joining environmental history class

: Won’t be in office until afternoon

: Have to go to work .. time X this afternoon
Tried to do it online — haven’t taken required class
Went to registrar’s office — need permission
Intro. to history = little to do w/ environment
Friend = didn’t have to take Intro. to history

: Call her later this afternoon?

: Work part-time .. too busy

: Come back tomorrow morning — speak w/ Prof.

: Permission tomorrow morning — enough time

===

===

Listen to a conversation between a student and a
university employee.

W:Good morning. How can | help you?

M: Um, this is the history department, right? I'm
looking for Professor Hane'’s office.

W:Yes, this is where Professor Hane works.
Unfortunately, she is not here right now.

M: Oh, OK. Do you know what time she’ll be back?
I have to talk to her about whether | can join her
environmental history class. It starts tomorrow.

W:Actually, she has meetings all morning. She
probably won’t be in her office until this afternoon.
You could come back then if you need to speak
with her.

M: Well, | have to go to work, so | don’t have time to
meet with her this afternoon.

W:1 see. Are you a history major?



M: No, but I'm studying environmental science, so
| think this class would be related to my studies.
And I'm also really interested in the subject.

W:OK. Did you already try to sign up for the class on

your own?

M: 2| tried to do it online yesterday, but | wasn’t able
to because | haven’t taken a required class called
Introduction to History. So | went to the registrar’s
office. They told me that | need permission from

the instructor.

W:In that case, you will need to speak with her
directly. SHmm... Have you thought about signing
up for Introduction to History first? Most students
take the courses in that order.

M: | don’t know... The Introduction to History class

is mostly about general history, which has little

to do with the environment. Plus, | have a friend
who took Professor Hane’s environmental history
class last semester. He told me that he didn’t
have to take the Introduction to History class first.

W:OK. 3Why don’t you try to call her later? | can give
you her office number and you can speak with her
on the phone. She should be back in the office by
around 1 p.m.

M: 3I’m sorry, but | don’t think | can do that. | work
pari-time at a restaurant, so | will be too busy to
call her until late at night. I'm sure she’ll be gone
by then.

W:OK... Then, how about this? Come back here
tomorrow morning before your classes start. That
way, you can speak directly with Professor Hane
about getting permission.

M: 1 guess that could work. “The class | want to

register for isn’t until tomorrow afternoon. So if

she gives me permission tomorrow morning, then
| will have enough time to register for the class.

W:Let me check her schedule. Hmm... You’re in
luck. She will be here at 8 a.m. tomorrow.

M: Oh, really? That's perfect. I'll stop by tomorrow.
Thanks for your help!
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W: Hmm... Have you thought about signing up for Introduction
to History first? Most students take the courses in that order.

M: | don’t know... The Introduction to History class is mostly
about general history, which has little to do with the

environment.
5 SHA2 0|z Loz RS 20l5=7
M: I don’t know...
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Note-taking
How Artists Show Character of Subjects

e Good portrait = shows subject’s character, how?
¢ 1st method = clothing & objects
- Carefully choose to express subject’s personality
- E.g. Arnolfini Portrait = they are wealthy & important
e Next method = poses & actions
- Some show entire body = help understand character
- E.g. Napoleon ~ = strong & fearless leader
e |astly = facial expressions
- During Renaiss. artists study human body .. skilled
- E.g. Mona Lisa = small & mysterious smile
- Effective " ppl. easily understand facial expressions

Listen to part of a lecture in an art history class.

P: Portrait painting is one of the oldest forms of art.
It has been around for thousands of years. Its
main purpose is to remember people by showing
how they looked. But, of course, there is more to
people than just their appearance. A good portrait
also shows us something about a subject’s
character. 'So how do artists show a subject’s
character or personality? Well, today we will look
at several methods.

So the first method uses clothing and objects.
Artists paint subjects with specific clothing and
objects in order to tell us what the subjects are
like. Um, think of the clothing and objects that
you own. They probably help you express your
personality, right? So portrait painters also
carefully choose the clothing and objects shown
in portraits to express their subject’s personality...
Um, there are many examples of this in portrait
art. 2For instance, take a look at this one called
the Arnolfini Portrait. It was painted by the Dutch
artist, Jan van Eyck, in 1434. It shows a wealthy
Italian businessman named Arnolfini and his wife.

0 Al22 =0i=L= CstH &4 At M2 HackersBook.com

You can see that they are wearing expensive
clothes and there are some nice pieces of
furniture around them. This shows that they are a
wealthy and important couple.

Next, there is the method of using poses and
actions. ®Although many portraits show only
a subject’s face, some show the entire body.
This type of portrait can help us understand the
subject’s character better. The more we see,
the more information we have. 3Um, look at this
famous portrait of Napoleon called Napoleon
Crossing the Alps, for example. It was done
in 1801 by the French painter Jacques-Louis
David. In the painting, we see Napoleon sitting
on a horse. However, the horse is standing on its
back legs as if it is preparing to attack. Napoleon
is holding on to the horse with one hand and
pointing toward the sky with the other. The
entire image is exciting with plenty of movement
and action. It shows Napoleon as a strong and
fearless leader who is in control of his actions.

Lastly, we have a method that uses facial
expressions. Facial expressions don’t have to be
as dramatic as poses and actions. But they can
still tell us a lot about a subject. Also, it takes a lot
of skill to capture facial expressions in a painting.
In fact, many artists in the past did not have
enough skill to paint facial expressions. Um, this
all changed during the Renaissance. “During the
Renaissance, many artists focused on studying
the human body closely, including the face.
So they became very skilled at painting facial
expressions. One of the most famous examples,
of course, is the Mona Lisa by Leonardo da Vinci.
In the Mona Lisa, we see that the subject has a
small and mysterious smile. It makes her look
as if she knows something that the viewers do
not. SPortraits like this one are very effective for
showing information about a subject. You know...
People can easily understand facial expressions.
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closely (8) ¢35 skilled at ~0f 58t  mysterious (&) 4lH|22 4 evolution 5 genetics 6 mysterious
7 instructor 8 reasoning 9 previous
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S et Example £2p.35
(D) 2= W2 37HS2| GEet UKL
A.(B) B.(A), (C)
3 ueE YRAMUMS = LIES 0l el £910[210 Rt
712 A
(A) IR2 7 RYst LIZ2|8 J2lo|ch Note-ta king
(B) 22 2 ol M = LIER|SS BOoELE M: Live in school dorm, need to pay a fine?
(C) 72 ol= g Ziaist X|=X[2 LIEFHC} W: Received fine . used an electric heater
(D) IS ZQ3t ciAlo 24| Xjolof ES atxc) Electric heater = unsafe — can start fire o
Read rules — keep everyone safe & help avoid fines
4 nof WEH, 2HEA ACHe| 3UIS2 ofEH = #82 1

2l= Aol sssiit=r Listen to a conversation between a student and a

(A) G SS9 RHES RUISHO 244 university housing office employee.
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M: Hi, | live in one of the school dormitories. |
received a letter saying that | need to pay a fine.

W:I can help you with that... Uh, it looks like you
received a fine because you used an electric
heater in your room.

M: Is there something wrong with that? It gets cold
sometimes and my roommates don’t like to turn
on the main heater.

W:Yes, however, an electric heater can be unsafe. If
it reaches high temperatures, it can start a fire.

M: Oh, | never thought about that. | don’t want to put
anyone in danger.

W:Please read the list of rules that was given to all
residents. They keep everyone safe and will help
you avoid future fines.
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Note-taking

Factors Why Venice is Sinking

e \enice = known for architecture, 20 mil. tourists/yr
® Problem = sinking @ 1 to 2 mm/yr
- Built on weak ground .. hold weight of bldg. X
- Climate change — sea levels rise
e Water will rise above foundation — damage bldg.
¢ Trying to save city — install gates & raising money

Listen to part of a lecture in an architecture class.

P: Venice is known for its architecture. Around 20
million tourists visit it each year to enjoy the city
and its famous waterways. However, Venice has
a serious problem. It’s sinking at a rate of one

12 o] M2i2 S0iZE Clerst sk X2 M2 HackersBook.com

to two millimeters a year. °Uh, one factor is that
the city was built on weak ground. The soil is so
soft that it cannot hold the weight of the buildings
above it. #Another factor is climate change, which
is causing sea levels to rise. As the city continues
to sink, water will rise above the foundations of
the buildings and damage them. So officials are
trying to save the city. They have installed huge
gates to try to control the water... Also, they are
raising money to make the historic buildings

waterproof.
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Listening Practice 1 22p.37

1O 2(AL(B 3(C) 4(B) 5(A)

Note-taking
W: Graduate this yr., tell me about process?
M: Apply for permission to graduate, here or online

Must finish required classes & pay fees to university
Problem — speak w/ academic advisor

Day of graduation = go to Main Hall — register

Find seat — name called — accept diploma

Check diploma — error — tell staff @ registration desk
Transcript = ask @ registrar’s office — take 3~4 weeks

Listen to a conversation between a student and a
students services office employee.

M: Good morning! Welcome to the students services
office.

W:Oh, good morning. Uh, is this where | register for




graduation?

M: Yes. I'm one of the graduate advisors and | would
be happy to help you.

W:'Well, I'm supposed to graduate this year. But I'm
not sure what | have to do. Can you tell me about
the process?

M: OK. First, you need to apply for permission to
graduate. You can do that here or online.

W:1 see. But why do | have to apply? | got good
grades in all of my classes. Isn’t that enough?

M: No, not quite. There are other requirements. 2AFor
instance, students must finish all of their required
classes. ?2They also have to pay fees to the
university. That's why graduate advisors review
the records of everyone who wants to graduate.

W:OK. That makes sense. *And what if there is a
problem with my review?

M: Then, you will need to speak with your academic
advisor. Sometimes, students have to wait until
the next semester to graduate.

W:Well, | don’t think I’ll have that problem, so I’'m not
worried. Uh, this may be a strange question to
ask, but what is graduation day like? I'm a little bit
nervous about it.

M: | understand. It can be stressful. Well, on the day
of the graduation, you have to go to the Main Hall
when you arrive and register. Then, you need to
follow the signs to find your seat. There will be a
person there to help you find the right place. The
ceremony is mostly just people giving speeches.
The only thing you have to do is wait for your
name to be called. Then, you have to walk up to
the stage and accept your graduation diploma.

W:Oh, | didn’t know we would get our diplomas at
the ceremony.

M: Yes, you'll get your diploma on stage. *And when
you get back to your seat, it's best to check your
diploma to make sure there aren’t any errors. If
there are, and this does happen sometimes, then
you should tell the staff at the registration desk
near the entrance.

W:OK. 5Will | get a copy of my school transcript with
the diploma?

M: No, I’'m afraid not. You actually have to ask
for one at the registrar’s office, and it can take
around three to four weeks to receive it in the
mail.

W:All right. Got it.

M: Great. If you need anything else, just give me
a call or send an e-mail. Here’s my contact
information.

W:Thanks.
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Note-taking
Voting Rights Act of 1965

e Before 1869 = only white men could vote
* 1869 = Black men allowed, women = allowed aft. 1920
* Some states required tax to vote = poll tax

- AA & immigrants = poor .. vote X
e Language test = AA & immigrants failed .. vote X
® 1960s, many protests — made Voting Rights Act law

- Effect = more ppl. vote, required additional measures
e Significance of Voting Rights Act 1 through changes

- Ban language tests & instructions in minor languages

Listen to part of a lecture in a history class.

P: 'Today, | want to tell you about the civil rights
movement in America. Uh, this was a movement
to give all Americans equal rights. Specifically,
I’'m going to focus on the importance of the Voting
Rights Act of 1965. This law made it easier for
certain groups of people, like some minorities, to
vote.

Uh, but first, let’s review voting history briefly.
Before 1869, only white men could vote in the
United States. Then, a new law was passed
in 1869. °Because of this law, black men were
allowed to vote for the first time. Similarly,
women were allowed to vote after a 1920 law
was passed. Therefore, it seemed that all adult
citizens could vote at that time. But this was an
illusion. Some states required people to pay a tax
to vote. This tax was called a poll tax. 2®Because
many African Americans and immigrants were
poor, they could not pay the poll tax. And if they
did not pay the tax, they were not allowed to
vote. 2PAlso, sometimes a language test was

0 Al22 =0i=L= CstH &4 At M2 HackersBook.com

required. Voters had to be able to read and write
in English. However, many African Americans
and immigrants were not able to read and write in
English. So they failed the test.

3Then, in the 1960s, civil rights became a big
issue in America. Some people argued that the
voting rules in some states were unfair. These
people thought all adult citizens should be
allowed to vote. There were many protests, and,
uh, some of these were violent. In fact, some
people were even killed. This got the attention of
the government. So, in 1965, President Lyndon
Johnson made the Voting Rights Act a law. It
gave voting rights to all American adults.

The initial effect of the act was that more people
could vote in elections. This made America more
democratic. But the law itself was not enough.
The Voting Rights Act also required additional
measures to make sure that the law was applied.
For instance, states had to get approval from the
government to change any voting processes.
Before making any changes, they had to prove
the changes were fair. Also, government officials
were sent to places where there had been voting
issues in the past. The officials made sure that
these places followed the new law.

4Later, the significance of the Voting Rights Act
became even greater through some changes.
One of these was a permanent ban on language
tests. Uh, states could no longer require people to
take these tests. Similarly, the changes protected
the voting rights of minorities. Uh, for example,
if areas had large minority populations, such
as Mexican Americans or Chinese Americans,
they had to provide voting instructions in those
minority languages...
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P: Because of this law, black men were allowed to vote for the
first time. Similarly, women were allowed to vote after a 1920
law was passed. Therefore, it seemed that all adult citizens
could vote at that time. But this was an illusion.

5 ML O[3 LEo@M Dot AtAfsteTt:
P: But this was an illusion.
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Note-taking

S: About portfolio deadline, know about art competition?

P: Have seen posters around campus

S: Almost done w/ drawing — turn in on May 15
Want to include drawing in portfolio = due on May 13
Give more time to submit? ".© many participating

P: Postpone due date " want to give everyone chance
Can’t accept later than May 15

S: Going to dorm. — send a brochure

Listen to a conversation between a student and a
professor.

S: Hi, Professor Turner. Could | come in for a
second?

P: Hello, Patrick. Of course... Have you been
working on paintings to add to your portfolio
project?

S: Well, I've been busy with assignments for other

classes, but the portfolio’s going well. It's almost
done...

P: Excellent. So what did you want to ask me about?
| assume it’s about your portfolio?

S: 'Yes, it's about the portfolio project deadline.
Professor, do you know anything about the art
competition? It's the one where the artists can
only use black and white in their drawings. A few
other professors mentioned it, so | checked it out.

P: Hmm... | think it's called Ideas in Color, or
something like that. It seems like many people
are excited about it. ?2I've seen a lot of posters
around campus promoting it.

S: Yes, that's the one. Anyway, I'm almost done with
a drawing that I'm planning to submit. | have to
turn it in on May 15.

P: OK, that’s great. So what's your question?

S: I’d really like to include the drawing in my
portfolio. *But the portfolio is due on May 13. So |
can only add the drawing after the competition.

CHAPTER 02 | Detail
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: Good point.

: But that’s past the deadline, isn’t it? That could

be a problem.

: Yes, that's why | wanted to check with you. 'm

wondering if you could give everyone a little
more time to submit their portfolios. As you know,
many of the students are participating in the
competition, too.

4‘Well, in that case, | should
postpone the due date of the portfolio. | want
to give everyone a chance to include their
artwork from the contest. After all, I've always
encouraged students to participate in these kinds
of competitions. It would be unfair if | didn’t give
everyone more time.

: Thank you for understanding, Professor. And

I’'m sure this will motivate everyone to work even
harder on their drawings.

: | certainly hope so. But | can’t accept portfolios

any later than May 15.

: Sure. That sounds very reasonable. Um, do you

want me to send you some more information
about the contest? °l don’t know if you have the
brochure or not.

: Oh, that would be great. Please give me a copy.
: I'll do that. I'm going to my dormitory after this, so

I'll send a copy to you by e-mail. Thanks again.

: Thank you, too. If you hadn’t told me about this,

I wouldn’t have thought about changing the
deadline.
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Listening Practice 4

1(B)

2(C) 3(B) 4 (A) 5(D)
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Note-taking
False Memories

e Several ways memories can fail

- Forget " not concentrating = issue about forgetting
® False memories = remember sth. diff. from reality

- Ppl. w/ false memories believe they’re true

- Can cause serious prob. (e.g. falsely remember crime)
e Why false memories happen?

- Wrong perception — create memory w/ wrong info.

- Inference = look for meaning — add new info.

- Interference = new info. added by someone else

Listen to part of a lecture in a psychology class.

P:

Most people believe their memories are true.
But our memories might not be as reliable as we
think. "Today we’re going to talk about an issue
with memories called false memories.

5You see, memory is not an exact science. |
mean, it doesn’t always function accurately.
Um, there are several different ways that our
memories can fail. For instance, we can forget
something happened because we were not
concentrating. Or, you know, we can forget
details because something happened a long time
ago... But these issues are both about forgetting.
False memories are a problem with remembering.

With false memories, we remember something
different from reality. Or we remember something
that never happened at all. For example, people
can falsely remember that they were good at
baseball in high school, even if this was never
true. Or they can falsely remember that they
helped their team win a game, even if they were
never on the team at all. Now, it’s important to
know that people with false memories honestly
believe that they’re true. So this is different from
lying. 2Moreover, it's important to understand that
false memories can cause serious problems.
Um, it can have a big effect on people’s lives. For
instance, if someone falsely remembers a crime,
this could cause an innocent person to go to jail...

But why do false memories happen in the
first place? Let’s look at some of the ways...
Sometimes, false memories are a result of wrong
perception. Um, perception is how we see,
hear, or touch something, and so on. It helps
us create new memories. But sometimes, our
perceptions can be wrong. For instance, a person
can remember a face incorrectly because it was
dark when they saw it or because they have
bad eyesight. 3So they create a false memory
using information that is wrong from the start.
Or, um, another cause is related to inference.
You see, people tend to look for meaning in their
experiences. So, sometimes, they will add new
information to their memory of an experience
based on an inference. The new information

0=

2

helps them understand the experience better.
But it also creates a false memory. In one study,
people were asked to read a list of words related
to sleep. After, many of them remembered seeing
the word sleep on the list, but the word was never

there. They inferred it because the list had many
words related to sleep. OK. And lastly, false
memories can also be caused by interference.
“Like inference, interference happens when

new information is added. The difference is that
the new information is added by someone else.
This information interferes with, or changes,
the original memory. One example is when you
falsely remember events from your childhood
because someone else told you they happened.
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P: You see, memory is not an exact science. | mean, it doesn’t
always function accurately. Um, there are several different
ways that our memories can fail.
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Note-taking

S: About final project, want some advice to make it better
Almost everyone focusing on univ. students = bit boring
Create & sell product for working mothers

P: Need to understand the group = do a lot of research
Working mothers = large group w/ a lot of variety
E.g. where they live & how much money they make
Goal = learn importance of marketing strategy

Listen to a conversation between a student and a
professor.

P:
S3

Hi, Sarah. Are you ready for the exam next week?

| think so. I’ve been reviewing my lecture
notes every day, and I’'m planning to study this
weekend. Also, | took a marketing class last
semester, so | feel pretty confident.

: Great! Well, it sounds like you’re going to do

very well next week! So what can | help you with
today?

: 'l actually wanted to talk about the final project.

Uh, you asked us to think of a product and some
ways to sell it to a specific group of people. My
project is going well, but | would like some advice
on how to make it better.

: Oh, that’s right. Which customer group are you

planning to focus on?

:Um, I’'m not sure. ?I’ve noticed that almost

everyone else in class is focusing on university
students. | would like to do something different.
That idea just seems a bit boring...

: | see what you mean. They probably chose to do

that because it would be easy for them.

: | think so, too. Anyway, | thought it would be

interesting to create and sell a product for working
mothers. There are many of them and they spend
a lot of money.

: ®That’s a fine idea. However, you need to

understand the group that you’re selling to. That
means that you will have to do a lot of research.

: | was afraid you might say that... Um, how

detailed do | have to be?

: 3Well, working mothers are a large group with

a lot of variety. It would be good to get a lot of
information about them. Do you know where
they live and how much money they make? Do
you know about their children or what kinds of
activities they enjoy? The more you know, the
easier it will be for you to develop a strategy to

sell your products.

: That sounds like a lot of work. I'm not sure that

I'll have enough time. | already know some basic
ideas about marketing. Couldn’t | just use those
to complete the project?

: Yes, of course, you can do that. But you said that

you wanted to make your project better. “The goal
of this project is for you to learn the importance
of a marketing strategy when you’re selling to a
specific group of people.




: You’re right. The extra research should be

helpful.

: Yes, the experience will also help you if you plan

to have a career in marketing.

: That's true. | hope to work in advertising after |

graduate... Well, | guess I'd better get started. I'm
sure | can find lots of material at the library if | go
now!
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P: That’s a fine idea. However, you need to understand the
group that you're selling to. That means that you will have to
do a lot of research.

S: | was afraid you might say that... Um, how detailed do | have
to be?
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Note-taking
Wind Power

e Wind power = best way to prod. large amt. of electricity
e Wind = indirect form of solar energy
- Sun heats — diff. in air temp. — mvmt. of air — wind
e How do we make electricity from wind? = wind turbines
- Blades turn — generator prod. electricity
e Large # of turbines in 1 area = wind farm
- E.g. wind farm in Oregon = 338 turbines
e Wind power prod. only 5% of global usage
- Wind = constant X = prob. for ppl.
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- Wind farm = threat to animals "." blades

. -
e Has bright future “* adv. > disadv. Anyway, even with these and other challenges, |

think wind energy still has a bright future. It offers
more advantages than disadvantages. And I'm

Listen to part of a lecture in an environmental sure that scientists and engineers will eventually
science class. develop solutions for the challenges that wind
power has today.

P: Last class, we began talking about renewable
forms of energy and how we will need them to
produce electricity. As | mentioned, oil and natural

7 et gole] YE SoAIR

ot

gas supplies are getting smaller and smaller. P: X[t AJZtol|, R2li= WA THSEH SHERC| of| A X|9F TS Abtst
Also, these fossil fuels cause global warming, so 7| 2l 2ZS0| O1EA| ZHREX|ol| CHSH 0[0F7[5E7 | AIZF3HO|
we need to replace them. 'Starting today, we are Q. M7t HZ3E0|, ML} MATIA 22S XA =0{E1 Q)
going to look at the various other energy options 0. B 0] 3HA SR ES x| 2UBIE 0|57 | W20, £
that are available. 2= JZES UiRIE ZLeJt 9l0iR. Q58E, Q2= 0|8 7t
Let’s begin with wind power... Um, it might be the S8HLISHCHE O x| MEIXISS HTHE oL,
best way to produce Iarge gmounts of electricity. Zejoz A|RRH EACH. S 1742 2r2 oko| M| MM} |
But first, how exagtly is W|nq prqduced? Many Off 7 22 BHOIX|E 2219 SHX|0H BIX, HIZKS K8H5| 0f
people don’t realize that W|2nd is actually an =) BISOAIlQ? B ARRISS HIZto| A ElS OjLiX|C]
heats Eariis atmosphere unevenly ‘and hic QTR Bl A8 MER| 2349 2L, iR T
causes differences in air temperature. Warm air CH71S J1EX] 874 715t Ofi= 7|22 20| S 2SofUe. ot
rises and cooler air falls. This movement of warm Kot &71= S0t O Ak S7|= otgsta. Wsal 2ot
and cool air creates wind. And the energy of the 2379 ol2{8t SZ|2l2 viES BHE0ILHR. J2|1 ol o
wind can be used to make electricity. LXl= 27|18 StE= O 0182 £ Qloe.
So how do we make electricity from wind? Well, J2iM R2|= ofEA HIZOR MY IS MENQ? 8, f2= B
we use very large structures called wind turbines. H Helol2tn E2|= iR Hoifst #X2S 0|8 JUE2
They are very tall and have massive blades that 0fR 7|7t 30 8|37 | =ZH2{o| L7HR{Z M71 Holst s
look like the blades on an airplane propeller. S JkX|1 QI0iQ. 0] NS HEI,_ [0 AZE|0f Q). e,
These blades are connected to a generator. LI} 5| MEF WOjC YMT|= 7|2 MASHLICE X}, 2t Za
So, every time the blades turn, the generator {812 oato| F7|3tS MAKSH 2 9J0{Q. TaHM, HE, ==
producles elgctricity. Now, each wifndI turbine uix X|CHalD Sale 3t X|olof e Ao| Zay E-|H|O|HH7(|E,='|I_|
can on roduce a certain amount of electricity. = E“ e
So, usu);I?y, large numbers of wind turbines a:/e Cf. 247, 7AE§ EIE% T7|2 BHIs2 o Sof, 22(210f
placed in one area called a wind farm. Together, FIxlet MHE S3H S 2 XIcholl= S 338710 S HE
they produce more electricity. 3For example, the 0| 012 %2 & OF 845MI712HES| TV |S Mildh =+ QUF.
Shepherds Flats Wind Farm in Oregon has a total 2, 371 208t 717 ool M7 IE S3at7[oll 28 20[o]
of 338 wind turbines. It can produce around 845 Q. AHTL olet 22 Z UH X|THE2 &l ™ MIA 0l AH|
megawatts of electricity in all... Um, that’s enough Cl= T7| 22| 1008) O|AS MAtst £ QUS HO|L. SHXIZE &
to supply over 200,000 homes with electricity. X, ZZH MA M7| Algefo| of SIHAMEDHS AAISH |CE 0=
One day, wind farms like this one could produce 0 Of|LAX| 0] 2] = JFK| LR TH20|0 2.
more than 100 times the amount of electricity T2, HIZHS oIRaHX| 240t Of, OffH i Ch2 m=ic) o 2t
currently consumed worldwide. But, at present, Cr orst pimlgl L o) s T | (]| e
wind power produces only around 5 percent of SIE. of3t H_rﬂol F= A1t st Bf E_ 1 Rlchi= o
global electricity usage. This is because of a IIE dibole. J2=2 dXI0f 2ol BE 22 201 2
couple of challenges with this energy source... 2iM, 2HH3], 01242 e M7 |7H HRsH ARSI EXIE &
= zd dF [C Hix LtQ (5
“CFirst, wind is not constant. Uh, it is stronger at iaf;jmi f_af‘ EEEONEHZ A_:H JZLJEEOE LH'l EJ
some times than at others. During long periods £ SSS0PH| #/=0| 2. OIS S04, &2 MS2 oA oSt
of low winds, wind farms produce less electricity. 7te 2% &8 U 2| olsaa. 2E2 o SUst X9
They can even stop completely. So, obviously, = SUSIE SR O X HS0f 22 LT K|S 75t 0f
this creates problems for people who need = YR MS0| 2 HEI9| &IIZ oIS 8. 12(1, 0, 1
electricity all of the time. “8Second, wind farms Zut JZJES =X S, 0fE 2F 1002t OF2|2| AJE0| =2 E{El
are a threat to birds, bats, and other animals that 0l ofeh ZQIS CIBHL|CE 22 2 [ 2 MS0| A2 =2
fly. Many birds, for instance, often travel long ASS0]| ofaf ZQUS chstE. 1 SAH= 100) O Jke. 1
?ifltar%%es every yﬁar durqin?1 the summer and thﬁ 20| 27510, 2] E{ulo| DR HHTA| IXWOF e
o et whotyos b S v TS SPIEACI S 70 S B )
those areas, this causes some of the birds to G 51}8 OJ2AE 7HA|2L QlER QZ}BHQ e THEec
fly into the blades of the wind turbines. And, uh, 2 084S M3sHe. 22|11 AefAtStt SeiAE0] 2= s
as a result, they die. °Um, about a million birds SEO| 7kX|2L U= RS0 chst s Z=ts ZHL S 2402t &
are killed by wind turbines each year. Of course, Al
even more birds are killed by tall buildings in our
cities. That number is closer to a billion. Still, the renewable (&) &M 7153t electricity a7|
problem with wind turbines must be fixed. fossil fuel 14 212 replace () thxllsiCt  indirect (&) ZHd=eQl

solar energy Ef 0flL4X|  unevenly () —|E;(| 4|

0 Al22 =0i=L= CstH &4 At M2 HackersBook.com
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3 DAE MHE B2 E2 B Xl 2af B200l2kD FakeTp Example g2 p.58
(A) 2242 MIA0M 7ta 2 E24 W R|cholct. A© BB
(B) IS U2 7S QI8 M7 |E MAtet 4~ Qlrh
(0) 2% F|Z0| MBIl B2 2 X|CHRIC, A
(D) 32 EA| Of|LAX|2| SEHHES MAFSITE Note-taking
S: Have a question about formation of stars
4 w0 M2H, T3 ARBO| & 71K HHle 20 Confused when talking about temp.
27H9] S 2A|2. P: Star = begins as cold ball of gas & dust

Star grows — gravity stronger — pressure heats star

A) Z2 8N X|CH7 RS AE XRHE 2R 2 sir i
(A) 2 4™ X|Ch7tHE EIMEE t Add pressure to gas — it starts to heat up
(B) 25 HYI0| ¥¥ SE5S Y 5= ULk

Listen to a conversation between a student and a

(D) 33 E{E10| 0j A|1CE professor.

5 Z& of|L{X|Q| O|2Ho]| CHEt m4o| Ef == 2oielvp? S: Hi, Professor Ahmad. | have a question about

today’s lecture on the formation of stars.
(A) 1= I200| EfQSE LTS SalE A0[2ta Y2 f5Ht B, Y hat d like to know?
(B) 1= 2240| LHHIS0| 149 FERiFICHD 2L + 1es, WAt Would you Tike fo Know
e _ _ S: Well, | got confused when you started talking

C) = AIZHS0| J742| 0|™E OlsHi5tx| Esictm A4ztsic] ’ — :
© EERE _lE'E Istok l_A L gzt about temperature. | mean, it's really cold in
(D) 2= T1240] A& EXie 202t W2isict space, right?

- P: That's correct. You see, a star begins as a cold

Zto|o| 2l ZE [C}A (=i II_E_ CHSIA| 2. ’ 8

; Il 720 ,”J,_ = ,0“ gt kl_” _ _ X ball of gas and dust. Then, as the star grows, its
: Um, about a million birds are killed by wind turbines eac gravity becomes stronger. The pressure of gravity

year. Of course, even more birds are killed by tall buildings in heats up the star.
our cities. That number is closer to a billion. Still, the problem

with wind turbines must be fixed.

S: That’s where you lost me...

P: Let’s take a look at the textbook... Here, it

o= o O] Yst=T}:
6 s o OFRA Fah=ot explains that when you add pressure to a gas, it

p: Of cc?grse, even more birds are killed by tall buildings in starts to heat up...
our cities. .
. S: Hold on, Professor, where are we looking?
(A) & 7HX| 28t 1222 =0|5 H| w57 | 2|s] g —— — T
_ - _ : , I’'mri ere on page 37. It’s in the thir
(B) 2AP7} 0| 20Tt & A213iTHs 242 AlALS] Sl SN —
(O S2S0| H2 EXE Lo?Itt= A ZxsH7| sk
(D) MES =2 T2 WSOl QICHs 242 LIEHH?| <l SHYa m Ajole] fstE SoAlR

X|o| A7H2 SO2 ARk O &

_I
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Of, Eo| J&stEA, I719| S=H2 M Zoid. S=2| g2 8

S g7 BrE0

formation (&) M4 confuse (§) E2tAZH BISCH
space (@) % dust HX|  gravity (@) =2
pressure (@) /21 paragraph chat

Cistel YRS ChA| 10 EEZ0]| HotAl2.

P: Let’s take a look at the textbook... Here, it explains that when
you add pressure to a gas, it starts to heat up...

S: Hold on, Professor, where are we looking?

P: Oh, I’'m right here on page 37. It’s in the third paragraph.

[0l

P2 0|7 Zetez=mM 2312 2li|sh=7t:
S: Hold on, Professor, where are we looking?

(A) IHE a7t off Mg BREX

(B) 2= w7t 149 BEE OfSHR =Xl 25| 2X| R
(O 4= w47t o 222 Mot =X ZEC)
k=x=1

(D) = W=7} Z=H|of| CHal

Note-taking
James Webb Space Telescope

e James Webb Space Telescope = images of distant obj.
e Moving around the Sun about 1.5 mil km from Earth
e Telescope = special design

- Side that faces the Sun = protected by shield

- Powerful camera on the other side = capture images

Listen to part of a lecture in an astronomy class.

P: I'm sure many of you have heard of the James
Webb Space Telescope. It has produced
incredible images of distant objects in space. Um,
I'd like to take a bit of time this morning to explain
why this telescope is so effective.

Now, as the name suggests, the James Webb
Space Telescope is, well, in space. In fact,
it's moving around the Sun about 1.5 million
kilometers from Earth. The telescope has a
special design. The side that faces the Sun
is protected by a large shield. Um, think of a
tennis court. That's how big it is. It protects the
telescope from the Sun’s radiation. It also has
a powerful camera on the other side to capture
highly detailed images of deep space.
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P: The telescope has a special design. The side that faces
the Sun is protected by a large shield. Um, think of a tennis
court. That's how big it is. It protects the telescope from the
Sun’s radiation. It also has a powerful camera on the other
side to capture highly detailed images of deep space.

W= off O ”oh=2k:

P: Um, think of a tennis court.

(A) 2 Z0| OEH| Z|0l=X| 2047 | 25l
(B) 2xI2| 27|E HYst| 28l

(O Z2HES|H|8S H=xst| f/8l
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Note-taking
: Next week = final exam ... gym = close for 3 weeks
: Univ. should close gym X " students have free time
: Gym = students take exam .. gym equipment out
: Exams end by 5 p.m., open gym after that time
: Take time to remove desks & chairs

Have to bring equipment back — time for exercise X
: Other ways = put students into diff. classrooms
Hard to watch — cheating happened — good idea X
: Another solution = offer pass for private gym
: Post idea on univ. website

=2s=s

szsz

Listen to a conversation between a student and a
student fithess center employee.

W:Welcome to the student fithess center. How can |
help you?

M: | wanted to ask about the opening hours of the
gym next week...

W:Sure, as you know, next week is the beginning of
the final exam period. So the gym is going to be
closed for three weeks until exams are finished.

M: Right... That’'s why I’'m here, actually. 'l don’t
think the university should close the gym during
the exam period. That’s when students have the
most free time.

W:| understand that it's quite inconvenient. But the
university needs to use the gym as a place where




students can take their exams. And, when that
happens, we have to take the gym equipment out
and set up all the desks and chairs.

M: 2But all of the exams end by 5 p.m. every day. I'm
sure you can open the gym after that time.

W:Well, I'm afraid that's not possible. It takes a lot of
time to remove all the desks and chairs. Plus, we_
would have to bring the gym equipment back in.
There wouldn’t be any time for anyone to exercise
by the time that’s done.

M: Oh, | didn’t think about how much time it would
take to organize everything... Still, | think there
are other ways to solve this problem. Maybe the
university doesn’t need to have an entire class
take the exam in one room. They could put the
students into different classrooms.

W:They’ve tried that in the past, but it didn’t work.
°Dividing students into different classrooms made
it hard to watch them. Uh, there weren’t enough
staff for each room. So cheating happened often
and became a bigger problem than before. That's
mainly why the university decided it wasn’t a
good idea. We also had other small problems.
For instance, many students went to the wrong
rooms by mistake.

M: Well, | guess there really is no way to keep the
university gym open during exams.

W: Again, | apologize for the inconvenience.

M: | think the university should find another solution
for people who want to exercise during the exam
period. *Um, for example, it could offer passes
for a private gym near campus. Students could
exercise there for free while the gym is closed.

W:*That’s a good suggestion. You should post your
idea on the university website.

M: | could do that, but I’'m not sure if anyone would
actually see it.

W:Well, staff members check the website every day.
And they respond to every message.

M: OK, then. I'll do that as soon as possible.
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W: That’s a good suggestion. You should post your idea on the
university website.

M: | could do that, but I’'m not sure if anyone would actually see
it.

W: Well, staff members check the website every day. And they
respond to every message.

5 Z2 9 o= Sst=7t
W: Well, staff members check the website every day. And
they respond to every message.
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Note-taking
Roman Sea Trade

e Before Roman Empire = pirates = huge problem
e 67 BC, Romans sent Pompey — problem reduced
e Rome = significant market for many products
- Ppl. wanted diverse products & wealthy enough
- Basic foods had to be imported “.* enough grain X
e Port closest to Rome = Ostia
e Larger port built at Pozzuoli
e Regions — major ports . responsible for specific items
e Ships transported goods between them

Listen to part of a lecture in a history class.

P: OK... You already know that ancient Rome had
a strong military... However, did you know it also
had a strong economy? Well, it did. And a lot of
its wealth came from sea trade. 'Today, I’'m going
to discuss why sea trade became more common
during the Roman Empire.

2Before the Roman Empire was established,
pirates were a huge problem. Thus, many
merchants did not want to participate in sea trade.
It was too risky. If merchant ships had valuable
products, pirates would attack the ships and steal
the products. The situation got so bad that pirates
took over the island of Crete. So, in 67 BC, the_
Romans sent a man named Pompey to deal
with the problem. They gave him many ships,
men, and money. Pompey attacked the pirates
repeatedly. Within three years, the problem of

24 20 422 F0jxk Clost 84 Ak M2 HackersBook.com

pirates in the Mediterranean Sea was significantly
reduced. This made the sea much safer for

merchant ships.

At the same time, the city of Rome had a
population of over a million residents. So, it was
a significant market for many products. SRome
had demand for all kinds of things. Think about it.
It was a multicultural city even back then. People
wanted diverse products, and they were wealthy
enough to afford exotic luxury goods. *Most
importantly, though, large amounts of basic foods
had to be imported... Italy’s farms simply couldn’t
produce enough grain to feed the entire local
population. The records show that over 400,000
tons of grain was brought into the city each year.
That is about the same amount of grain that 1,200
ships could carry.

S: | guess the city of Rome must have had a very
large port for all of those ships?

P: Absolutely. The port closest to Rome was Ostia. It
was at the opening of a river near Rome. Goods
were sent there from around the Mediterranean
Sea. However, as sea trade grew, a larger port
was built at Pozzuoli. Uh, this was a coastal city
in the south of Rome. Merchant ships would drop
off their goods there. Then, the goods would be
delivered on smaller ships to Ostia.

Now, Rome wasn’t the only center of sea trade in
the region... A number of other regions became
major ports as well. The reason is that each
region became responsible for producing specific
items. For example, Egypt and Sardinia produced
lots of grain. Meanwhile, other cities in Italy were
famous for their wines, and Hispania was an
important source of metals.

“The different regions of the Roman Empire
relied on each other for these necessary goods.
So ships constantly transported goods between
them. As a result, the sea trade of Rome and its
regions played a big role in overall sea trade in
the Mediterranean Sea.
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P: Rome had demand for all kinds of things. Think about it.
It was a multicultural city even back then. People wanted
diverse products, and they were wealthy enough to afford
exotic luxury goods.
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Note-taking

S: Need advice about topic = town of Calico

P: 1880s, discovered silver in Calico — opened mine
Miners came from all over the world .. grew quickly
Huge success = more than enough silver — last long X
Problem = taken so much silver .. value decreased
Make enough money X .. closed mines

Listen to a conversation between a student and a
professor.

S: Excuse me, Professor Wilson, do you have time
to talk?
P: Sure, Josie. What’s on your mind?

S: 'Well, it’s about the history assignment. | need
some advice about my topic. I'm writing about the
town of Calico...

P: That’'s a great example of a ghost town. Uh,
everyone left the town after a financial crisis...

S: Right. 'l read an article about it, but it didn’t have
a lot of details. Can you tell me a little more about
what happened there?

P: | can give you an introduction, but you should do
more research at the library. Now, what do you
remember from the article?

S: Um, it said that thousands of people lived in the
town.

P: That’s right. 2So, in California in the 1880s,
miners discovered silver in the Calico mountains.
They opened a mine to get the silver out of
the mountain and, um, that's how the town got
started.

S: But how did the place get so big? Didn’t it start
with just small groups of miners?

P: That's a good question. The miners were the first
ones there, but then people around the world
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heard that Calico had a lot of silver. 3So miners
came from all over the world to work in Calico.
There were even people from Europe and Asia.
And they all came to make money. That's why the
town grew so quickly.

: It seems like the place was really successful. |

read that one of the mines there produced the
most silver in California at the time.

: Yes... For a while, the town was a huge success.

The mines were producing more than enough
silver and everyone was making money.
However, the good times didn’t last very long...

: You mean the town started to struggle? What

happened, exactly?

. It’'s complicated, but I'll give you the simple

version of the story. “The new mining companies
had a problem. They had taken so much silver out
of the mountains that the value of silver started
to decrease. Eventually, the price of silver got so
low that they couldn’t make enough money. So
they closed the mines.

: And that must be why everybody left the town.

5Since there were no more mines, they had no
reason to stay there.

: Exactly. Well, that should be more than enough to

get you started. | think you can take it from here.

: Thanks for the information. I’'m going to the library

right now to start working on my report.
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S:

P:

Since there were no more mines, they had no reason to stay

there.

Exactly. Well, that should be more than enough to get you

started. | think you can take it from here.

. Thanks for the information. I'm going to the library right now

to start working on my report.
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P: I think you can take it from here.
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Note-taking

Sofonisba Anguissola

Anguissola = 1st fem. painter to achieve great success

Pop. philosophy — father educated music & art
Michelangelo = provided advice early in career

- Impressed by her talent & style (e.g. drawing for him)

Painted subjects in casual settings w/ relaxed poses
- Tried hard to capture inner natures

QOil

paint — produce realistic works

Invited to palace of Spain — portraits of king’s family
- Produced her greatest work

Listen to part of a lecture in an art history class.

P:

S1:

S2:

Let’s continue our discussion of the
Renaissance... Over the past few weeks, you
may have noticed that all the painters we’ve
talked about were men. '"However, there were
a few female painters as well. Today, I'd like
to discuss one in particular. Her name was

Sofonisba Anguissola. She was the first female

painter to achieve great success.

Now, Anguissola was born to a wealthy
family in Italy. 2And back then, many wealthy
families tried to educate their daughters in

subjects like music and art... Um, they did this
because of a popular philosophy at the time.
This philosophy encouraged the artistic and
intellectual development of individuals... For
wealthy families, this meant giving their children

a good education in many subjects. So that’s
why Anguissola’s father educated his daughters
in music and art...

How did Anguissola develop a career in art?

Well, Anguissola’s father saw that she was
talented. So he decided to continue her training
in art. He even sent her to work with a well-
known art teacher. *That’s when she met the
famous artist, Michelangelo. She met him during
a trip to Rome. He provided her with advice early
in her career... Yes?

Um, that seems odd. | mean, Michelangelo was
one of the greatest painters of the time. Why
would he care about an unknown artist?

Well, it was because he was impressed by

her talent and style... Here, take a look at the
image on the screen. It's a drawing Anguissola
produced for Michelangelo. It shows her younger
brother as a child. He is screaming in pain
because a crab is holding on to his finger...
Now, it was the boy’s expression that particularly
impressed Michelangelo. Human expression

is hard to paint, and he recognized her special

O|&=Alst 229|9

p:

S1:

S2:

talent. Uh, this painting might seem normal
today, but it was special during its time. You see,
in those days, artists mostly painted people in
formal poses and settings. However, Anguissola
started a new style. 3She painted her subjects
in casual settings and with relaxed poses. And
her subjects have lively expressions on their
faces... Their personalities come alive. °| guess
you could say that Anguissola tried very hard to
capture their inner natures...

And, once Anguissola started working with oil
paint, she was able to produce incredibly realistic
works... Um, this one is Portrait of the Artist’s
Family. You can see it is a family portrait. Her
father, sister, brother, and even the family dog,
are in it. Again, this shows her preference for
casual scenes... However, this painting was
never finished. ‘Um, you see, at around the
same time, Anguissola was invited to the palace
of King Philip Il of Spain. There, she completed
many formal portraits of the king’s family.
She was also the queen’s personal painting
instructor. It was a great honor to paint for the
king’s family. In my view, it was here in Spain
that she produced her greatest work.
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P:

That’s when she met the famous artist, Michelangelo. She
met him during a trip to Rome. He provided her with advice
early in her career... Yes?

2 =0{F = Ckst 8Hs X2 M2 HackersBook.com

S2: Um, that seems odd. | mean, Michelangelo was one of the
greatest painters of the time. Why would he care about an
unknown artist?

5 SS9 ofZ| etk
S2: 1 mean, Michelangelo was one of the greatest painters
of the time.
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Note-taking

: Sign up for job fair on website — couldn’t register

: Job fair = only for graduating students

: Why can’t let everyone attend?

: Comp. = look for ppl. start working in near future
Many will have interview on the same day

: Plan = career in programming, done part-time jobs
Help career if meet more ppl. in the biz.

: Talk to prof. — get note = allowed to go to fair
Prep. questions to ask comp. representatives

===

=

<

Listen to a conversation between a student and a
career center employee.

W:Hi. I'm here to talk to someone about the job fair.
Am | in the right place?

M: Sure. Do you want to sign up? There are still
plenty of spaces available.

W:Well, that's actually why | came. '| fried to sign
up for the job fair on the website, but | couldn’t
register.

M: Oh, | think | know what the problem is. Are you
graduating at the end of this year?

W:No, I’'m a third-year student, so | won’t be
graduating until next year.

M: OK, so that's the issue. I'm afraid that the job fair
is only for graduating students.

W:Really? 5To be honest, that seems unfair.
Students who aren’t in their last year might also
be interested in going to the event.

M: | see your point. But my hands are tied. | tell
students the rules and help them register. That's
it. If | make an exception for you, other students
might hear about it and be upset.

W:1 understand... | don’t think | should get special
treatment. But why can’t the school just let
everyone attend the fair?

M: 2Well, there is a reason why the fair is only for
graduating students. The companies at the fair
are looking for people who can start working in




the near future. Many of them will even have
interviews on the same day.

W:Right... | didn’t think about that. But I'd like a
chance to explain why | want to attend.

M: Sure. I'm willing to listen to what you have to say.

W:So, um... *My plan is to have a career in computer
programming after | graduate. In recent years,
I've even done part-time jobs that are related to
my plan. So | really think it would help my career
if | could meet more people in the computer
business.

M: Hmm... Then how about this? Talk to a professor
or an advisor and get a note from them. It should
say that you are allowed to go to the fair. If you
bring me that note, then | will let you sign up.

W:That’s great! Thanks for understanding.

M: “By the way, it might be a good idea to prepare
a list of questions before the job fair. You
know, questions you want to ask the company
representatives that will be at the event. That way,
you won't forget anything important on the day it

happens.

W:I will definitely do that. Uh, what time does your
office close?

M: I will be here until 5 p.m. That gives you about an
hour and a half to get the note.

W:OK. I'll make sure to be back before you leave.
Thanks so much!
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W: To be honest, that seems unfair. Students who aren’t in their

M:

last year might also be interested in going to the event.
| see your point. But my hands are tied. | tell students the
rules and help them register. That’s it.
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Note-taking
How Insects Use Cryptochrome to Navigate

e Cryptochrome = functions like compass for insects
e Proteins absorb light — go through chemical reaction

- Allow proteins to respond to magnetic field
- Insects can determine direction & find way

e Exposure to light — sense magnetic field, how?
- Crypto. = found in eyes — insect uses vision

- Crypto. appear as spots — insects see as pattern

e Use other methods
- Monarch butterfly = crypto. proteins in eyes
- Scientists = not sure how it works

Listen to part of a lecture in a biology class.

P: As we’ve discussed, many insects use the sun
and the moon to determine which way to travel.
But in cloudy and rainy weather, this method isn’t
very effective. 'So some species have developed
other methods of navigation. For example,
certain insects can sense and follow the earth’s

magnetic field. They use a special protein called
cryptochrome to do this. But first, who can

remind us about the magnetic field?

S1: Um, the earth is like a giant magnet that creates

a magnetic field. Its strongest points are at the
North and South Poles. This is why the needle

of a compass always points north.

P: Exactly. And cryptochrome functions like a

compass for insects. It allows them to always
know which way is north or south. So how exactly
does it work? 2Um, when cryptochrome proteins
absorb light, uh, particularly blue light, they go
through a chemical reaction. 3Scientists believe
that this reaction allows the proteins to respond
to Earth’s magnetic field. And through this,
insects can determine direction and find their

way. This theory is supported by an experiment
with insects. In the experiment, scientists created
an artificial magnetic field. Then, they exposed
the insects to light at different times. \When there
was light, the insects were able to sense and
follow the magnetic field. But when the light was
removed... Well, they seemed to lose their sense

of direction...

S2:%Um, so what you’re saying is that exposure to
light causes the cryptochrome proteins to sense
the magnetic field, right? But, uh, how exactly

does this allow insects to find their way?

0 Al22 =0i=L= CstH &4 At M2 HackersBook.com

S1:

S2:

That's a good question. In fact, it's one that a lot
of biologists are asking. Um, there are actually
a few possibilities. For instance, we know that
in many species, cryptochromes are found in
the insect’s eyes. So, naturally, this suggests
that the insect uses its vision. *Some scientists
think that groups of cryptochromes appear as
light and dark spots. The insect can actually see
these spots as a pattern. Now, the pattern may
change as the insect moves around... But the
spots caused by cryptochrome always appear

in the same positions. Uh, so if the insect is
facing north, the spots caused by cryptochrome
will always appear in one position. Then, if the
insect faces south, the spots will always appear
in another position. In this way, the insect always
knows which way to go based on the pattern it
sees.

Now, some insects don’t just use their eyes.
They use other methods as well. SFor example,
monarch butterflies have cryptochrome proteins
in their eyes, but they also have cryptochrome

proteins in their antennae. So this gives the
monarch butterflies additional information to
help them navigate. Of course, this information
probably doesn’t look like an image since the
cryptochrome proteins are found in the antennae
and not in the eyes. And scientists still aren’t sure
how it all works. Still, regardless of how monarch
butterflies use the information to navigate,
they are very effective at doing it. Every year,
thousands of them fly from Canada to Mexico.
This trip can take up to two months to complete.
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S2: Um, so what you're saying is that exposure to light causes
the cryptochrome proteins to sense the magnetic field,
right? But, uh, how exactly does this allow insects to find
their way?

P: That's a good question. In fact, it's one that a lot of biologists
are asking. Um, there are actually a few possibilities.

6 D o 0l Lateot:

P: In fact, it's one that a lot of biologists are asking.
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Vocabulary Review 22p.72
1 import 2 multicultural 3 exotic
4 impress 5 pressure 6 apologize
7 Cheating 8 treatment 9 formal
10 (B) 11 (A) 12 (D)
13 (C) 14 (C)
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Note-taking

S: Attend seminar on Friday X “.* basketball practice

P: Attendance = required X, recommend participate
Seminar will have experts in engineering

S: Ask coach if | can miss practice

Listen to a conversation between a student and a
professor.

S: Professor Lewis, | have some bad news. | don’t
think I'll be able to attend the seminar on Friday

CHAPTER 04 | Attitude
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afternoon.

P: That’'s unfortunate. Do you have a problem with

the schedule?

S: Yes... I'm a member of the university’s basketball

team, and we have practice that day.

P: Well, as | mentioned in class, attendance isn’t
required. However, | really recommend that you
participate. An opportunity like this doesn’t come

along often.
S: What do you mean?

P: The seminar will have several experts in the field
of engineering. You would definitely learn a lot if

you attended.

S: Hmm... That sounds interesting. Maybe I'll ask

my coach if | can miss this Friday’s practice.
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Note-taking
Relationship between Ukraine and Russia

e Ukraine = part of Russian Empire & state in Soviet

® 1991 = Ukraine declared that it was independent state
- Official = 90% 1 Ukrainian voted for independence

e Some regions = Russian speakers — vote to join Russia

® 2014 = Russia invaded Crimea
* Recent event = threaten entire country

Listen to part of a lecture in a history class.

P: For most of its modern history, Ukraine has been
closely attached to Russia. Uh, it was part of
the Russian Empire. Then, it was a state in the
Soviet Union. But, um, when the Soviet Union fell
apart in 1991, leaders in Ukraine declared that it
was an independent state. This was made official

0 Al22 =0i=L= CstH &4 At M2 HackersBook.com
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when over 90 percent of Ukrainian citizens voted
for independence. But there’s a problem... Some
regions of Ukraine are home to many Russian
speakers who consider themselves culturally
Russian. These people voted to join Russia. The
situation has led to conflicts. In 2014, the Russian
military invaded Crimea, a region in southern
Ukraine. Additionally, I'm sure you’ve all been
following the news... Recent events now threaten
the entire country.
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P: The situation has led to conflicts. In 2014, the Russian military
invaded Crimea, a region in southern Ukraine. Additionally,
I’m sure you’ve all been following the news... Recent events
now threaten the entire country.
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P: Additionally, I'm sure you’ve all been following the news...
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Note-taking
W: Applied for sch. — heard anything X — rejected?
M: Met qualifications, continue X . contact reference X
Reference = abroad & contact by phone X
Have chance to speak w/ him — schedule interview
W: Worried because of delay
M: Worry X *.* timing = no impact on outcome
Many applicants — a few are chosen
Will get e-mail = interview date & time
Look on bright side " have more time to prepare



Listen to a conversation between a student and an T X2 AFEAO|A SHMTH EI9] Af0|2] T3t
employee at a financial aid office.

i
N
|0
=
fo

W: M7| ehsQ, B Eofd 4= U=X| S3dle. Fetzol 2

W:Hi there, | was wondering if you could help me. | off =272} o7 [8HOF siA 2.
need to speak to someone about a scholarship. M: RI7FZFE2 4 91010, Kaks| 2012 o AlOAIZIR?

M: 1 can help you with that. What exactly do you W: 2 H| ABHS 029, A= 3= AMZo| At S AEE0lQ. 1
MOEE @ [ 2|3 M, 8, AHME RIESH 5 & Y} ojn| P ot

W:Well, here’s my situation. 'l applied for a 1 S0{Q. I3 M= AFRAM OF2AHE EX| 230{Q
scholarship about three weeks ago. And | heard T2{L|7}, 04, O A| A M7 HEE|QICH= E20171Q?

that, um, some of the students who submitted

applications already had their interviews. But |

haven’t heard anything from the office. So, uh, -

does this mean my application got rejected? Tl 25t
o

. W: O[3i7} ©F EHe. K= H| ALl HZS0I0| 0|21} 19| Y12t Z X
M: Let me check on my computer... Um, it says that Iz ber =R Xi= A S2lel OlS2f o] HEHE A
S ) Z3H0{Q. B910| X2 UOHE=X| OIALLR?

your application was reviewed and that you met oM TATIEAE =

all of the qualifications. 2But the process could not M: &, T7hslielof i1 FstE o120 oF &= 21 Zote. 7t ekl

continue because the school has not been able to Of|74| 043 = 2402t OH7 [SHA| ARALER?

contact your personal reference. W: Ofir, Ol 23 Zote. e ®7F J1ef 0J0F7 |5 X| 22H0] EiA,
W:1 don’t understand. | provided the name of my OO} 1= T0f 03lst IS & SES Mol

reference and his contact infgrmation. Do you M: OfL|Td o0} HAH0|7| Shste 24 QoS HollQ. O X

know what caused the problem. —g—ljf 19} 0H7|§ [[H77+X| ?jE% 3E} ES 810191-- 1E‘|L|77|> 17|» =
M:2Well, it seems he’s abroad and cannot be OfRbM X{3|7} T12F 07|18t 7|57t M7, T S0f stio| M

contacted by phone. Didn’t he tell you he would SIPSEERI=biTe)

ing?

be traveling? W: QALICE DI 87t 20} Yste 242 Di2ol Sof o]
W:No, | don’t think so. But it has been two months otom o{wHstx?

rs:n;ebl ttalkeclj_ to Ttmh tstc_> maybe he didn’t know M: 21 2S Xj= Q0jLIX| Qote. T2ILIl EHo| Al B0l

& ¢ be fraveling &t fnat fime. O] S0l 243 LI 2 & 21 O[LIYOIR, IHE?

M: Or perhaps he just forgot to tell you. Anyway, W: D21 2 2|2, D2 BIFO| XIeiEls 2 R0 ofXE| 24

we can’t do the interview until we talk to him. s

So when he gets back and we have a chance -

. . > . 5t o L A% [S13=}
to speak with him, then we’ll schedule your M: O 2i-e He glo HE| AlZl= ¢ Zujof S-S 0|
interview. X|X| edote.

W:5l see. But what if the school doesn'’t like what he : Ciolle. ME abge Ao X|gstz, JHX] odLte?
says? M: 2, 45| I, XM3|= B2 XIS SR|e 2 Hoto] 2t
M: That doesn’t happen often. | mean, it's not like =2 2EE JEEe
your reference is going to say anything bad about W: JZ2Q. € A of&! 7|5|7f QICH| 020| 0|42, £
you, right? MM ZARHE. J210), BEO| tistiAs of 8| Hi2te W g
W:| guess that's true. But I'm still worried because of Le?
the delay in the interview. M: THE 2wt AjZH0| ZEHE 0|H|YUS Bro Al AHojle
M: You don’t need to worry about that. The timing W: |, ZPARRILICE O|HYE 7 (T2 |1 AR
of the interview has no impact on the outcome of M: Ul 32|10 J@e SFHRl HE 2A|Q. OfX|, sHd2 ChE MY
ST TR, RHS0| J3El 220 BES Slall FHIE AlZto| B %2 Hof
W:That's good to know. 3The application process is Q.
very competitive, isn't it? W DR & 2 HAS ARt A 7010
M: Oh, it definitely is. We get many applicants, but
only a few are chosen to receive scholarships. scholarship (@) &2  application (@) AIEA, AIX
W:Right. Well, 'm relieved that I still have a chance. reject () 7f83ict - qualification () Xt 271
. o] = o o) oi3|
Thanks for your help. By the way, how will | be reference (B) 42l 2521 timing @) Al7|  impact (&) J&
contacted for the interview? outcome (&) 2zt
M: You will get an e-mail that includes the interview 1 ohste =2 ooiol| 2kt ZoIoR

date and time.

- . o] Hi2 xn=
W:OK, thanks. I'll be waiting for the e-mail. (W) HHOIM S 223
i ; f B) XA X|21S Bt | 2|5t Al AX

M: All right. *And look on the bright side of your (6) 2 x| = lfl_ ) 2t

situation. Now, you will have more time to prepare (@ shdiel golg 41F o

for the interview than the other applicants did. (D) BHHO| THE] Lt 2 QF
W:That’s true. Hmm... I'd better start practicing,

then! 2 Z|of 2, M " 9f XARU[=2F?
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W: | see. But what if the school doesn’t like what he says?

M: That doesn’t happen often. | mean, it’s not like your reference

is going to say anything bad about you, right?
5 Z|2 9ff o]z Lot=7tk

M: I mean, it’s not like your reference is going to say anything

bad about you, right?
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Note-taking
Musical Development during the Renaissance

e Renaissance = important changes in music took place
* Medieval times = religious — Renaiss. = secular

- Scholars brought Greek works — artists = inspired

- Greek artists = humanists = making art about ppl.

- Humanism — more secular music to be prod.

e Greek writers had impact on Renaiss. music

- Plato = words > melody — focus on vocal music

- Word painting = music matched meaning of words

e Renaiss. music = showed a lot of emotion > before

Listen to part of a lecture in a music history class.

P: Good afternoon, class. Last week, we talked
about developments in European music during
the Middle Ages. 'Today, we’re going to move
on to the Renaissance. This was another period
when important changes in music took place.
First, let’s do a quick review of last week’s

AE =0iF = LSt 8t AIE M2 HackersBook.com

material... Who had the most influence over
music in Europe during the Middle Ages?

S: | think it was church leaders, right? | mean, the.
church was the most powerful institution at the
time.

P: That's exactly right. And as a result, most music
during medieval times was religious. But all of
that started to change during the Renaissance.
This is when secular music became more
popular. Secular music is, of course, music that
is not religious. Um, | think it'll help if | give you
a little background here about the Renaissance.
During the Renaissance period, many scholars
from other parts of the world moved to Rome.
When they did, they brought many examples
of classical Greek works, such as poems. 2So
Renaissance artists, including musicians, became
inspired by these ancient Greek texts. Now, many
ancient Greek artists and writers were humanists.
This means that they were more concerned
about the lives of humans than gods. So, instead
of making art that honored gods or religion, the
Greek humanists focused on making art that was
about people... This is why many Renaissance
musicians started making music about people.
5In short, the growth of humanism caused more
secular music to be produced. I’'m not saying that
church music stopped being made... | don’t want
to give you the wrong idea. It just means that
other kinds of music became important as well.

In addition, the Greek writers also had an impact
on how Renaissance music sounded. The, uh,
Greek philosopher Plato influenced this change...
He believed that words were more important
than melody. This led to a new focus on vocal
music. Uh, vocal music simply means music with
words and not just instruments. So Plato’s writing
inspired Renaissance composers to write music
that worked well with song lyrics. They did this
through a technique known as word painting.
Um, in word painting, the music matched the
meaning of the words being sung. For example,
if someone sang about the stars, the musical
notes would go up. Or, if the lyrics described an
action like running, the notes would be played
very fast. *Word painting also had an effect on
how listeners felt... They could feel sad if both the
lyrics and notes were sad, or feel happy if both
the lyrics and notes were cheerful.

40f course, today, Renaissance music sounds
a bit dull and boring. But, at the time, people
thought it showed a lot of emotion, especially
compared to the music that was made before.
This was because composers of the Middle Ages
were not really interested in expressing emotions.
Their main goal was to make religious music
about God.
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P: In short, the growth of humanism caused more secular music
to be produced. I'm not saying that church music stopped
being made... | don’t want to give you the wrong idea. It just

means that other kinds of music became important as well.
5 4= 9 017 Toh=ok:
P: I don’t want to give you the wrong idea.
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Note-taking

S: Opp. to write news article, not sure how to write it
Univ. holding conference — prof. give presentation
Going to be largest bio. conference held in state
Interview all speakers & ask about their work
Interview so many prof. — enough time to write X
Interview X — boring

Limit to 2 or 3 speakers — save time & meet deadline
E-mail prof. most interested in & arrange interview

(S 2

Listen to a conversation between a student and a
professor.

S: Good morning, Professor Murray. | know you are
usually busy at this time. But |, uh, need to talk to
you about something.

P: Sure. | have a meeting at 11 a.m., but | have
some time now. What’s on your mind?

S: '"Well, I've got an opportunity to write a newspaper
article and since you’re in charge of the university
paper, | would like to get your opinion.
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Really? That’s great to hear... You’re in my
journalism class, right?

: “That’s right. You might not know this, but I'm_

doing a double major in communications and

biology.

: | remember you mentioning that in class. | was
a little surprised. Those subjects aren’t really
related.

: Yeah, | get that a lot. But that's what | wanted to
talk to you about. The article would allow me to

use my knowledge of biology, but I’'m not sure
how to write it, exactly.

: All right. Why don’t you tell me more?
: Well, next weekend, the university is holding an

important biology conference. | think it is going
to be quite an event. Professors from, uh, 12
different universities will be giving presentations

on their newest research. So it should be exciting
for all of the students, especially for those
majoring in biology.

: Yes, | heard about the event. 2Apparently, it's
going to be the largest biology conference ever

held in the state.

: Yes... That’'s why | thought of writing a story
about it. | could interview all of the speakers
and ask them about how their work will change

people’s lives. | mean, it'll basically be about how

our future will change because of their work.

: Hmm... That's a good idea. °I'm a little worried,
though, that you’re trying to include too much in

one article. You would have to interview so many
professors. Um, you might not have enough time
to write the article before the deadline.

;| don’t know... If | don’t do any interviews, my
article will be a little boring. It would just be a
summary of the conference and presentations. |
don’t think anyone would be interested in reading
that.

: 3Um, | didn’t mean to say that you shouldn’t do
any interviews. What | mean is that you should
limit your interviews to two or three well-known

speakers. That would save you a lot of time. So
you'll find it easier to meet the deadline.

: That makes sense. | guess I'll e-mail the
professors I'm most interested in speaking with
and arrange interviews with them.

: Good plan. And if you need more help with the
article, just call me. I'm really looking forward to
reading it.

0z
(=]
El

t

T AfO|2| LHEHE 24|12

rO
o\‘

IR, Murray WK X2 A|ZHf| HE HpssAl Z 2t 71 Q)

E1IZ1| K=, 0f 2O1710] sl WALl L2 ce{obafQ.
L= 52I1 11AJ01| |27} ettt J2in| X2 A7t
Qlo|L|?

o

1

rhu FO (o1}
30 =

Mo oo © Mo
> O

on N

%% = .—? =

T A {D
N F

§ _t

=

=k

EHE

or i

10 no

lo X

Y

o 2

0zt
ng o
=
~
~J
[}
3
-
i
e
r
_>i
m
|19
fjo
nn
=
30
~
|
i
Ral
~J

Rl
%0)
H
[
>
4>
H‘|
30
Ral
=
Rl
rr
0x
HL
ofm
>
1o
i=]
0=
Mo
Jon
njo
ilis
4>

=2
ed
=

Jfo
nun
ro
Rl
Hu g

17

kIR O 2
o
il
$0
2
FO

o
4 4>

24 o33t | 7[QiLF=TLE L= ozt s30)
27/ pHto] QL

HALS

v
s

ng
mjo
59
k=]
min
<
fO
_O'ﬂ

IDWPPE B 2EE2 D A

I M
=il EH°F Hxse g8g 4+

=
2= |y
‘|>1|__1
™
= Y
= 2
)
0x
L
o=
O—II;I'\F
iOEE
=
ol
O
E
I-D

I
2
2‘
FO

Jat,,

o
-

oo

E 7Hz[EHE. X T
APZEE L Z0tQ. 0f, 12709 M2 Efﬁ EHs*OHH =2
=]

=
M o
N i
|2
un
10
ﬁ
>

s
=

rin oc
1

0:

uin

ja¥]
==

Mol o bo A
N

o 1

d

]

w
s
|
=
=
N

E
M T AZHSHE 0|90)2.
T7HOf G| MRS &E

.

e
>
mun
mjo
2

£
off 2t %W%# %% Holg. Lzt a2
=0l 22|9| 0|27} 01| HiEX|

o
N =R
X

bl
"
re
p=|

o
|0
Hu
[
i
10
"O
oy
Ao

sy
1o
N
2
%o}

o
==

210, Lt U7HsiLe] 7 Ao L2 Bt
{2 2{5ofRiCt s OFE B2 @

o=
[st Ol 7IAHE & SESHAR

0.
J

N mjo
o
rlo

=
I\
S
-4
i
|
i)
r\l

ﬂ”o H:|
ol

ol

T

rir

N

o

N
_FE

o

r
_QII__I
=)
not
X
=)
oo J
N

o Ml
Aron
H T
o g
\_I_H_—FH
LN

0

>}
S
<2

PRI 22, M| 7|AtE & ARl

Ls—r,

o gofo| & ol otRE 1

T [
ol

\_
L2 ro

b

B o

o 2 | o
rfr o &

|
W0 g

it

el

k=

0

o Mo
8

T W0y oo
<

my
o A I:I:I

O

S K

FO

_,_
)
m

 si21 71 Ot
=2 Hstafor aict
2ol e ke

U o
_O'ﬂ
Ral
1S3
[«)
=)
=
o
2 rir
|'|_|D
’—_I.L m|0

o
0
=
N
-

m
Jr
L[
4n
=
08
10
:Io
rok

wm
Mr = oo »Y ot © 4> Y oo =2 1o
o rodr ey

7ok 2
717 4194 7

S SR Tl 7F 00|51 A2 DALS oIS B
M S31e) SlEf URS Tolorole.

P: E2 AE0|7LL 12|71 1 7|Ajol Bl £20| O Hesie, Lt
ol 2tsia] 2% ol A HY 7|cHEl =Lt

__l
é
> rio
- >
£l
o
o
&
M
N
g

opportunity @) 7|&| in charge of ~2 Eietet=

double major 24 ®& conference (@) s3] newest (&) . E|Al
deadline @) 7|3t summary 9f limit (8) mgtstc]
well-known (&) |%st arrange XS R}

look forward to ~2 7|ChaICt

Y
2
rH
:|°|:'
Ao
ol
N
40
St

HU
2
m
i
40
o 1o
o
§
il
<2
i
rir
10
[e]
N
40
St

@
i
_}‘_
o
rir
1o
ol
=2
o
4
ol
L
HI
N
{0
S



(B) O B2 SIS QlEIR |2 Metgrozu
(© 7IAjol| QIEIRS mBt5tx| Sk =M

(D) S0 H M2 HES So=M

Ciste| YR E CHA| E0 EHE20| HotA2.

S: That’s right. You might not know this, but I'm doing a double
major in communications and biology.

P: | remember you mentioning that in class. | was a little
surprised. Those subjects aren’t really related.

S: Yeah, | get that a lot.

4 s 9f o[ Rot=Ttk
S: Yeah, | get that a lot.
(A) B X3S sh= 20| 02 OfFCh= 218 H=xsh| 26l
(B) 17t SEst= AS0| 20| giCh= Aol AYg E55H7|

sk

(D) CHE ARFS0| 0| ME 80| S0[sICi M2f3itt= Ag
Ho{F7| ?lsh

Ciste| YR E CHA| E10 EHE20| HotA2.

P: I'm a little worried, though, that you’re trying to include too
much in one article. You would have to interview so many
professors. Um, you might not have enough time to write the
article before the deadline.

S: I don’t know... If | don’t do any interviews, my article will be a

little boring.

5 a2 0|z ato2M 2oig onjste7t
S: I don’t know...
(A) O= W7t 2 HIX| & BELL
(B) 1= QIEIRE OfEA BX| Zalx| Rt
(O 2= u2| 2|0l Z2I5HX| =Lt
(D) 2= 7|3t0| ANIAX| ELC

Listening Practice 4 22p.83
18 2B 3O 4D 5(B)
Note-taking

How Animal Intelligence is Determined

e Challenge = way we understand intelligence
- Tend to see if they behave like humans
- Animals = can be intelligent in other ways
e Animal’s ability to recognize itself in mirror
- Red spot on chimp’s forehead — recognized itself
* Another sign = ability to exp. emotions
- Dogs have emotions, what we think X
* Another way = analyzing brains
- Brain size = important, only factor X

Listen to part of a lecture in a physiology class.
P: I'm sure many of you have owned a pet before.

And you probably thought they were intelligent
because they followed your commands or, uh, did

)é-i

various tricks. But does that make these animals
intelligent? 'How do scientists know when an
animal is intelligent? This is what I'd like to
discuss today.

One of the challenges in studying animal
intelligence is the way that we understand
intelligence. Normally, um, we think of intelligence
as a human quality. So, when we evaluate the
intelligence of animals, we tend to see if they
behave like humans... 2For instance, if you ask
people to identify an intelligent animal, they will
usually mention apes, like orangutans. This is
because apes often show human-like behavior.
However, animals can be intelligent in other
ways. So we have to be careful not to consider
animals intelligent just because they behave like
humans.

Um, one thing scientists do when they
study animal intelligence is look for certain
characteristics. One of these is an animal’s ability
to recognize itself in a mirror. You see, when
some animals look in a mirror, they become
confused and think that they are seeing a
different animal. But other animals, like elephants
and dolphins, know that they are looking at
themselves. Um, in one famous experiment,
researchers painted a red spot on a chimpanzee’s
forehead. 30f course, the chimpanzee could only
see the spot when it looked in a mirror. But when
the chimpanzee saw the spot, it didn’t reach
out to the mirror. It touched its own forehead.
This shows that it recognized itself in the mirror.
For scientists, this is a sign of high intelligence.
Previously, scientists believed that only humans
had this kind of intelligence.

OK, now, another sign of intelligence is the ability
to experience emotions... For example, dogs
move their tails when they’re happy. They can
also appear sad when they lie on the ground and
place their head on top of their paws. Some pet
owners even believe that dogs have complex
emotions, like, uh, guilt. You've probably seen
the sorry look on a dog’s face after it's done
something wrong, right? But, according to a
recent experiment, dogs tend to look guilty when
they feel nervous or afraid... Um, this happens
even when they’ve done nothing wrong. So dogs
have emotions, but these emotions may not be
what we think they are.

“Anyway, another way scientists study animal
intelligence is by analyzing their brains. One way
to do this is to measure the size of the brain.
The larger the brain, the smarter the animal.
Sounds simple, right? Not so fast. Let’s consider
the animal with the largest brain, for instance:
the sperm whale. 5The sperm whale’s brain
weighs 18 pounds on average. That’s six times
bigger than the human brain. But | don’t think
many people would agree that sperm whales are
smarter than humans. Brain size is important for
intelligence, but it is not the only factor.
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P: Anyway, another way scientists study animal intelligence is
by analyzing their brains. One way to do this is to measure
the size of the brain. The larger the brain, the smarter the
animal. Sounds simple, right? Not so fast.

L 4= off O|FHA Let=T}
P: Not so fast.
(A) =5 EF5t= Aot 2EE 0222 Aest| fi6l
(B) 2 =I5 Mot ol O Q2 HeICh= AS X&sh| flsl
(O 22 +5k= Aol =30] ERsiCh= S HoixT| 2lsh
(D) 780 o[siat7 |ofl SESICh= 2AE Eok7| #Ish

42|o| YRS CiA| 211 BE0]| HEH L.

P: The sperm whale’s brain weighs 18 pounds on average.
That’s six times bigger than the human brain. But | don’t
think many people would agree that sperm whales are
smarter than humans. Brain size is important for intelligence,
but it is not the only factor.

5 s O 2Rz RS 20[5H=7
P: But | don’t think many people would agree that sperm

whales are smarter than humans.

(A) SER12H0l CHE! Of B42 9377} O|R0{XOf BHTt.
(B) e eli= OfOt ARHECt O ££51X| @42 A0ICh
(© gFaehel of kl= 18ut2ERLE o AL

(D) 2 A= o malo| X|Sof Cha 22 2T/t

1(C) 2 (B) 3(B) 4 (C) 5(A)

Note-taking

W: Want to start a new sports team @ school

M: Varsity teams = fully supported by univ.
All major sports teams = varsity teams
Club teams = pay for things themselves

W: Bowling = varsity sport X



Students won’t mind paying & take bus or drive

M: Team needs to become officially recognized e R EUER e & CREED Qe BlEn LD e e

Choose president & provide set of rules CRlRElC

Collect signatures fr. at least 50 students on campus M: I'd say your chances are pretty high, so you can

Submit documents as early as possible probably start to do all those thlngS... L.Jm, but
maybe don’t spend too much money until you're
sure.

Listen to a conversation between a student and the

irector of campus activities. = A S S e =
=S LA 23S My = % == 3

d ST} ZHIHA Bt ZHOIX} AFO| Q| CHE} OAR

W:Hi. 'I'm here because, uh, | want to start a new W: QHISHMR. K=, 0f StmoAl M2 AXX El2 A|Zstm Al
sports team here at school. 01A] 047] 2012,

M: OK. What kind of team do you want to start? M: 4| ofit ZR0| El2 A|XfstD AlOAIZIQ?

W:Well, we have a bowling alley here at school... W: 2, 0{7| stwofl= 2210 QI01Q.. 3|, O|ASHAE, 22l=
2But, strangely, we don’t have any bowling =2l Elo|L} 22 Sof2| 22 22l th|7} gloje
organizations, like a bowling team or a bowling M: Fofli= 21 4472 s x{0| QU@ | DA L&A
oub. iU, 514 20| AR B, BAJE] A% B3t S0 A% x

M: I've never thought about that before. But now that Elo| XI0|ES Y A AIZtR?
you mentlpn it, you're right. First, are you familiar Ob, 215, 0f, Hof| £ Tt S0{8012
with the difference between a varsity sports team
and a club sports team? M: 2, HIAE[ AXX B2 Cifsto] ofsf 2tHs| X|Ee. M52

0 E’ ﬁEE AHH , 1 2|9 7-IE().| CHal =2 X|Est Elgj 10

W:Not really, but, uh, I've heard of both before. O|O7_<__|_LEI o lo ‘ollglé‘iol )u_x E'JEEMEIEI J\;}_j

S /T o EC THEA — T4 I o=C e

M:Well, varsity sports teams are fully supported E0[0]Q. 2|1 S HA 2 E0j2| AXEE 25t EIS0| Q)
by the university. Players don’t have to pay for 09 S0I2| AZX EISS AAZ E2S Q.
travel, sports equipment, or anything else. All of

J N ’ - =2a2| AILX Z| 7 ZIX| = o9 74 RO

our major sports teams, like the football team, are v T.Z(.”_Hrﬂﬁ o -l E)\Ij; ixlt:o ;HI, _E;Haol_h;;%
f 3 = o I= sy =] = =3
varsity sports teams. Then, there are teams for o 9l SIS E O35 Thlol FLISR 0| 22 W= RS

. o 5| = ==
club sports like, um, chess. 3Club sports teams AF M| k2 ol Q. CHE stnollM 72 ) XMsl= 29 B
pay for things themselves. AS EPZLE 286N 2 =5 01R. &, 22 HAS ?fet Ea
. L . Z rfoisHs 7S = HIMX| &S ol

W:1 don’t think that bowling is going to become a S thofsts 24 2274 BRI 28 710l
varsity sport, which is fine. I'm sure the students M: %, LZSL|CE of 2ol s B2 Mzt siEA 21 2. 0]
who are interested won’t mind paying for their N|, SOf2| AZXT}LE[= Z40] 2HoHA... Bl HX AN S
own uniforms and equipment. We can also AlMo 2 oIF8h= =0t2|7f £[0{0F iR, SHYo| IES 25t 3
just take a bus or drive when we play at other xS MEHSD, MHOZ E Yo PSS HZshof & Hojl
schools. Also, renting a .place for bowling events Q. AHES 9|5 HEHAOM HMO{E 503 0]Ate| BHMEC| A
shouldn’t be that expensive. 542 Dojo} & 7o)

o= = 1.
M: OK, then. It sounds like you’vg given this a lot of W ZIAlO|AIZ+RQ? J3iH| El2 50230 OF|2} CHYO|LF 0441 Do)
thought. “Now, about becoming a club sport... MAaol2 ZoQl
; o Mgk QL el
The team first needs to become an officially Sl ey (e = T K s G ] |
recognized club on campus. You’ll need to M: ofot. SE0IZ. 7= 1 2A0 MBS & =+ flbh= = 719
q . 5| =o L 5 3 5 o o=
choose a president for your group, and provide SIS, 282 I 0] shaie] dol7|at si 2. 'S S
a written set of rules. *Plus, you'll need to collect OHE O Amx0|| Cifst SR8 20| UCh=s 2 Hoix7| fI8
signatures from at least 50 students on campus AHo2.
on e (e oL W: 270le 8 12 X7t EX g2 % ZH|e ofot Fof F L

W:Are you serious? But the team would only have o 2= MEs s + A2 A 2ot
five or six players, not 50! M: EHUI2.. 12|10 0iXIgos, BASS JHsst 3 4N FiE

M: Ha ha... Of course. *Remember that anyone can StAl= A2 FHeQ. MRAas OS2 HEY A0 oY
put their signature on the document. They just 710 2.
have to be a student at this school. It's to show W: | D2 AR, 2 stuTl M3|o| AIMME 2918 THsA0)
Iggﬁnthere s enough interest in the sport to make a =ChD AZESHR? JLE M SLIES 57| ARSHD &
— b 2P &St 4l01Q. ofat Mal= YX|o A=HS 3 o

W:I see. Well, | don’t think that will be a problem. | 300l &I A 9ol
\clzvaer;gobably get all the signatures in a couple of M FHsAS ) =2 2 Ziolg, J2ILt ofol JHES Be ARt

' SIME E 7o, 8, 3| StachE Wik HE B2 =2

M: Good... Oh, and lastly, | recommend that you ME[= ORI,
submit your documents as early as possible. The
office will need time to review them.

varsity sports team HIAJE| AZX E|(GIRE CHESH=E Wl AXX El)

W:OK, I'll do that... Um, do you think there’s a fully (8) ef®s|  equipment (@) &t|  officially &) 2AMoz
good chance that the school will approve our recognize (8) QIMsiCt  approve (E) &0lstct

application? | mean, | want to start looking for
our uniforms and practice with the team. Maybe
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M: Remember that anyone can put their signature on the
document. They just have to be a student at this school. It's
to show that there’s enough interest in the sport to make a
team.

W: | see. Well, | don’t think that will be a problem. | can probably
get all the signatures in a couple of weeks.

5 Otz Ol Zete=2M R3S old|ot=7t:
W: Well, | don’t think that will be a problem.

(@puit 45 SHS0| ZXE Lo Aot
7

18 2B 3(C) 4B 50O 6D

Note-taking
Dead Zones

e Dead zone = can’t support much life " oxygen |

e Main factor = eutrophication = too many nutrients

e Excess nutrients = come from human activity
- Commercial farms use chemical (e.g. nitrogen)
- Rain — nitrogen enters stream — enters ocean

® Algae = consume nutrients — grow = algae bloom
- Consume oxygen — remove oxygen after they die

40  0f 422 S0i5k Clost 84 A2 K HackersBook.com

- Small organisms die — remove more oxygen

e Famous example = Gulf of Mexico = damage to human
e Dead zone = can be brought back w/ human help

Listen to part of a lecture in an ecology class.

P: As everyone knows, it is important to understand
environmental issues because we depend on the
environment for our survival. 'Uh, one growing
environmental problem is the increase in dead
zones in the ocean. Dead zones are areas in the
ocean that cannot support much life because they
have low amounts of oxygen. So let’s learn about
how they form and their impact...

The main factor in the formation of dead
zones is a process called eutrophication. Um,
eutrophication is what happens when there
are too many nutrients in the water. Naturally,
organisms need nutrients to survive. But, if there
are too many nutrients, this is a problem for
marine life... 2Uh, for example, excess nutrients
like nitrogen and phosphorous can cause blue-
green algae to grow. As the algae grow, they take
oxygen from the water.

S: 3Uh, where do these excess nutrients come from?

P: Well, they mainly come from human activity. Let's
look at a common example of eutrophication
in agriculture... Modern commercial farms use
a lot of chemicals. Nitrogen, for instance, is an
important chemical ingredient in fertilizers. It
helps crops grow well. However, when it rains,
some of this nitrogen enters streams and rivers.
And, eventually, the water from these streams
and rivers enters the ocean. When it does, it
carries the nitrogen with it.

So what happens when nutrients enter the
ocean? Well, remember the blue-green algae |
mentioned? They consume the excess nutrients
and begin to grow out of control... When this
happens, the algae become algae blooms. Um,
algae blooms are very large groups of algae
that grow quickly. And the problem with algae
blooms is that they consume a lot of the oxygen
in the water. This continues even after the algae
die because most organisms remove oxygen
when they break down... {Anyway, after the
algae remove oxygen from the water, other small
organisms start to die. And when small organisms
die, they break down and remove more oxygen.
Everything adds up. Even large fish are affected
because they run out of food and have to leave.
Eventually, the whole area becomes a dead
zone. It can’t support living organisms...

A famous example of a dead zone is in the Gulf
of Mexico. “Every summer, a large dead zone
appears where the Mississippi River enters the
Gulf. Um, the size of this dead zone varies from
year to year. However, it can be greater than
10,000 square kilometers. That is similar to
the size of the island of Jamaica or the country
of Lebanon! Obviously, this large dead zone
causes major changes to the local ecosystem.
And it causes direct damage to humans as




0=
[l

°

¥ W

well. Commercial fishing is a big industry in the
area. But the dead zone threatens the jobs of
fishermen.

5Um, so what can be done about the problem
of dead zones? Well, fortunately, they can be
brought back to life. But this can only be done
with human help. Communities must change
farming practices. For instance, farmers can
grow organic crops. This will reduce the amount
of nutrients that enter the water. So the nutrient
balance in the ocean can be restored, and the
wildlife can return.
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P: Anyway, after the algae remove oxygen from the water, other
small organisms start to die. And when small organisms die,
they break down and remove more oxygen. Everything adds
up. Even large fish are affected because they run out of food
and have to leave. Eventually, the whole area becomes a
dead zone.

6 M 9l 0| Yotk
P: Everything adds up.
(A) 2 20717HE 242 210710]| o] E
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(C) 2K 80| Lot ofH2X| ZZ5H| 2|5l

(D) siLte| ZHI7HLHE EMIE B &stAZICHE S &AISH |

Skl
Vocabulary Review 22p.92
1 instrument 2 fertilizer 3 ingredient
4 guilt 5 secular 6 commercial
7 humanists 8 evaluate 9 cheerful
10 (D) 11 (B) 12 (C)
13 (A) 14(D)
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Note-taking

W: Volunteered to give exchange students campus tour
Wanted to show things that make univ. special
Maybe stop by sports stadium

M: Construction work being done there, arts center?

W: Great idea " large & modern

Listen to a conversation between a student and an
employee at the international students office.

M: Welcome to the international students office. How
can | help you today?

W:I was hoping you could give me some advice. |
volunteered to give several exchange students a
campus tour, but I’'m not sure where to take them.

M: Well, | assume you’re planning to show them the
main facilities, like the library and so on.

W:Of course. But, um, | also wanted to show them
some of the things that make our university
special. Maybe we should stop by the sports
stadium.

M: Actually, some construction work is being done
there this week. What about the arts center
instead?

W:That’s a great idea. The arts center is quite large
and modern, so I'm sure they will like it. Thanks
for your help!

| bl AFRAOfA Shelint X2 ALO[2] CHEIE S22,

M: =H| S ARRA0] @41 A4S StBiL|CE 252 oA =olE
2I7te?

42  oj 422 S0i5kE Clost 84 A2 M HackersBook.com
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£ 2S5 YRE HOIED 40|12 Ofo} XISl AEX 27IE
o S2{oF & 2 2ofe
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£2 42100012 ol HEfS B 20 SchEojofM, 150| £
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international students office 2| &4 AF2A

volunteer (8) AII5ICH  exchange student metstay

facility @) Al stop by ~0fl S2C}  construction work ZAF &t
modern S0l

Note-taking
Evidence of Large Civilization in the Amazon

e Now Bolivia = evidence of large civilization
- Ppl. lived between 500~1400 AD
- Built many structures (e.g. pyramids)
- Constructed roads — use during rainy season
- Made canals & ponds to hold water — grow rice

Listen to part of a lecture in an anthropology class.

P:

For years, anthropologists did not think large
civilizations existed in the Amazon in ancient
times. However, we now know this isn’t true... Um,
in what is now Bolivia, researchers discovered

evidence of a large civilization. And, uh, the
people of this civilization lived there between
500 and 1400 AD. They built many structures,
such as pyramids. And, uh, they constructed a
large network of roads... Some of these were
built above the surrounding ground. So, uh, this
allowed people to use the roads during the rainy
season, when the Amazon flooded. They also
made canals and ponds to hold water. They, uh,
used this water to grow rice.

QIS Zolo| UHE S0

P: A7k QIZSIXIES TrH OlOFEO]| 7Cist 2HO| ZEXHZHCID
MZISHR| oiELICE SHX|2t 22[= O|X| 0]240] AR&lO| ofgl
S YD UR. S, K22l E2|H(0Fl Roi|A, HATEXIES HHchst
2| ZSAHE LHM0I. T2|1, 0, 0] 2HO| AIE2 M7|
5000 1400 Ato|of| TI320i|IA ARH0{2. OS2 m|2fa|
e 2 7288 740 12|17, 0, 152 st =
2YS ML, O|UE & YRE (2 & 2lof M=
Z. J2iM, 0f, Ol= ARIEZ 5102 Of0FE0| HERIE 27| 5
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Note-taking
: Haven’t been to many plays

S

=
S
P

o w

: Live performance = diff. from reading or watching video

: Assignment due next week, enough time X
: Allow to write about performance on video

Try sth. not too long, modern play = easier "." language

: Musical?
: Recommend play " musical = complicated *." music
Simply state opinion X, have to analyze everything

Listen to a conversation between a student and a
professor.

St

P:

Hello, Professor Shaw. | hope I'm not disturbing
you.

Hi, Greg. No, not at all. Come in... What can | do
for you?

: Thanks. 'Um, it's about the report you asked us

to write. | like the idea of writing about a play. But
| actually haven’t been to many plays.

: So when was the last time you watched one?

: It was a long time ago... And | don’t remember

enough to write a report.

: OK, well, it's important for this report that you've

seen a performance in person. 2Seeing a live
performance is very different from reading about
it or watching it on video. You tend to feel strong
emotions.

. | understand. But what if | can’t find a play to

watch? | mean, the assignment is due next week.
There might not be enough time.

. All right. Well, if you really can’t watch a live

performance, then I'll allow you to write your
report about a performance on video. It should be
easy to find one online.

: Thank you, Professor. | can probably do that

Joh

Ww ¥ @

tonight... Um, do you have any recommendations?

: Any play will do. 3Um, but it would be best not to

pick something that’s too hard. So try watching
something that’s not too long. Also, a modern
play would be easier to understand because of
the language.

: All right. Can | ask one more question? Does it

have to be a play? Or can it be a musical?

: Either one will be fine. “But | recommend you

choose a play because a musical is more
complicated.

: Oh? Why is that?
: Well, besides analyzing the story, the characters,

and so on, you will also have to analyze the
music.

: Oh, right. OK. But, um, | didn’t realize that we had

to analyze all of those things. | thought we just
had to give a brief summary of the story and write
our opinion about the performance.

: Oh, there’s more to it than that. SRemember, this

is a class about drama criticism. It’s not enough
to simply state your opinion. You have to explain
your reasons for it. That means you have to
analyze everything about the play, including the
acting, the way the stage looks, and so on.

: Umm... That sounds like a lot.
: Yes, but each of those sections can be one or

two paragraphs long. Then, end the report with
your opinion of the play.

: OK. | think I've got it now, Professor. Thank you

so much!

gt w4 Afo[9] TS SoAIL.
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Zo|o|= HESTHL? Listening Practice 2 22p.99

Note-taking
Development of Cities During the Middle Ages

e Start of Middle Ages = small farming communities
e Adv. in farming — prod. more food > needed

Of 5H=X| 22t0{Q. M3|7 It EH2|0| B2 JHLE HAlGtD
Fats l_EM 12 XEl r, o E74212| &S 4R E HAShL - Ppl. went to places w/ more ppl. — sold crops
JOI0]| Cish oA M7 (ot otH El= & ARA0IR : i
- Increase in econ. activity — attracted more ppl.

P: @ T2 BV} ORLIZICE 7|45l 0] 1= BEof 25t +-240] e Leaders built walls = protect city & control in and out
OF CHX| 4| o|ZE Uste ZRtozE BEs|. L O7of tist e Inside walls = crowded .. some ppl. stayed outside
o] O|RE HHsf{of s, J74 W7t AA7|, o7t HOJX| = Al - Advantage to living outside = pay tax X
S 30| Chst 2E ZS EAsH0F SiCh= ©|ojok - Buildings outside city walls = suburbs

S 2. s e 74 2R - New suburbs outside old suburbs — city grew larger

P: Jef, stX|2t O 22E 22+ sh= that Z10(o{% =t O LS,

disturb gisisict  play 1= tend to ~5H= Agk0| QICH
emotion & recommendation (@) =&

modern sice]  complicated =xiot

analyze 2AM5ICE  realize T} JHECE  criticism H|™
simply CHX|  state sict  acting 17|

paragraph cr2f

1 a0l 2xl= 2P

Listen to part of a lecture in a city planning class.

P:

These days, many modern cities are carefully
planned. But, uh, this wasn’t the case hundreds
of years ago. Most cities first developed as small
towns, and then grew larger in an unplanned
way. 'This was true for European cities during the
Middle Ages. Today, we’re going to look at how
these cities developed.

4So, at the start of the Middle Ages, most
people lived in small farming communities in the
countryside. 2®However, advances in farming

(A) J= 0o IX|HES EX D20} tools and methods allowed them to produce
(B) 1= Zolo| cifst &y} Tesich more food with less labor. This meant they

could produce more food than they needed.
(© 2= twjof| 2kl 2go] ATt And, uh, not everyone had to grow crops to feed

themselves. So some of them went to places
with more people, such as castles, seaports, and

2 WAL Alsh Zolof| s 2ojolgbn Wet=Tp? rivers. There, they sold their crops. 2°Over time,

this increase in economic activity attracted more

(A) IS 2 BatEths Mt O ISt people like merchants, builders, and so on. So,

(B) IS 2 Ikt 0|2 XSS CHELCT uh, around these areas, permanent cities and
(O 2ztE2 FCt ol7|7} HojHC markets grew.

(D) IZS 2 DM o||7| st ZHRIX o3k OZICt “As the cities grew, Iocal_ Ieadgrs built walls

around them. Walls made it easier to protect a

3 DAL SOl SolS ZHE=IR city and to control who cgme in anq .out. 5No.w, in

exchange for the protection that cities provided,

(A) 2d&otX| b2 RX|Z MEHE}Y| residents had to pay taxes. No surprise there...

(B) 2ES LIS M7 | 3|2 A= MEKE| I mean, you don’t get something for nothing. In

B B addition, outsiders who wanted to trade in a city
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had to pay fees to sell their goods. “Gradually,
that’s how these walled cities became important
trading centers.

Because they were important trading centers,
they attracted even more people. And, uh,
eventually, the space inside the walls became too
crowded. So some people stayed outside the city
walls. Uh, they built their homes and shops there.
3Also, there was an advantage to living outside
the city walls... People didn’t have to pay taxes.
Some merchants even did business outside the
city walls just to avoid taxes.

A) Q7 ZZ10]| CHEH 0|2 MH517| 23] o ) )
war _ ol et ol _E o1l H_ 4These buildings outside the city walls became
(B) 0| SHYSOVH| 783 01 S S| 715 known as suburbs. City officials actively
(C) 8HM0| t2tof & oA |2 R|AISH7| 25l encouraged the growth of these suburbs because

they, uh, added to the city’s wealth. Then, new




suburbs would grow outside the old suburbs.
And, like the old suburbs, these new ones later
became part of the city as well. “So, um, this
process continued for many years... And, well,
that’s how these old cities grew larger and

larger. Over time, they grew far beyond their
original walls. But, um, communities that were
further away from the city’s center were less
organized. Um, they became difficult to manage

and regulate. And they were less stable. People
could easily move in and out, so illegal trade
and other crimes became a problem. | think it's
a shame. The original order of medieval walled
cities was impressive before they grew bigger.
Anyhow, the medieval walled city and its suburbs
are considered the earliest versions of today’s

modern cities and suburbs.
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P:

Now, in exchange for the protection that cities provided,
residents had to pay taxes. No surprise there... | mean, you
don’t get something for nothing. In addition, outsiders who
wanted to trade in a city had to pay fees to sell their goods.
= O Petezi 2oS PAlst=E:

P: No surprise there...
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Listening Practice 3 22p.101
1(D) 2(C) 3(B) 4(C) 5(A)
Note-taking

S: Want to take art history class, need permission

Psychology =

asgmt.
check how many signed up

If full, take it next semester, know another class
Prof. Park’s subject = African art, learn general history

Listen to a conversation between a student and a
professor.

S:
P:

Hi, Professor Bell. Do you have time to talk?

Sure, Lydia. Um, you were in my Introduction to
Visual Arts class, right? Didn’t you change your
major to psychology?

: Yes, that’s actually why I'm here. 'You see, | want

to take the art history class that you're teaching
this semester, but | need your permission.

: If you don’t mind me asking, why do you want to

take an art history class?

: 2Well, | think psychology is present in every field,

but especially art. Art is kind of like a window into
the artist's mind. So, for me, art and psychology
are actually related to each other.

: That's a great point. So does this mean that

you’re changing your major back to art history?

: No, I’'m going to continue studying psychology.

SBut I'm also thinking of getting a part-time job,
and | want to do something related to art. A
position as an assistant at a museum would be
amazing, but | will need some knowledge of art

history...

: That’s very impressive... You know, when | was

a student, | couldn’t imagine getting a part-time
job. My assignments and exams kept me busy...
| mean, | had some free time, but | used it to
relax, not to work. Unfortunately, | can’'t give you
a decision right now...

: Oh, no. Did | forget a requirement? Do | need to

get permission from someone else?

: No, that’s not the problem. Um, I'll just have to

check how many students have already signed
up for the class. *Of course, you can register if
the class is not full. But you never know...

: Uh... What if the class is full? | really wanted to

take your art history class...

: Well, you could always wait and take it next

semester. Or if you don’t want to do that, | know
of another art history class.

: | definitely don’t want to wait. | want to get a job

soon, so it’s important that | take an art history
class this semester. What is the other class?

: YIt's taught by Professor Park. However, the

2 =0{F = Ckst 8Hs X2 M2 HackersBook.com

in every field, art & psychology = related
Thinking part-time job related to art ..
P: When student, part-time job X *.*
Decision X *.

need knowledge

S

of

subject is a little different. It's specifically about
African art... But you’ll still learn a lot about
general art history.

OK. It's good to know there is another option in
case | can’t get into your class. Thanks for all of
your help.
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P: Of course, you can register if the class is not full. But you
never know...
S: Uh... What if the class is full? | really wanted to take your art
history class...
5 e off oA skt
P: But you never know...
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Note-taking
The Doppler Effect

e Ambulance closer & siren louder = Doppler Effect

¢ Related to distance between each sound save
- Close together = high sound, far apart = low sound
- Drop stone into pool — middle = close

e Movement = important
- Amb. coming — near source of noise = high sound
- Amb. away — farther from source = low sound
- Amb. stops — Doppler effect stops = constant

e Use to measure speed & direction (e.g. thunderstorm)

Listen to part of a lecture in a physics class.

P: Have you ever heard an ambulance go past you?

Well, you may have noticed something strange.
'As the ambulance gets closer, the sound of the
siren gets louder and faster. What explains this?
Well, it's something called the Doppler effect.

So, uh, the Doppler effect is a change in the way
you hear sounds from a moving object. And this
change in sound is directly related to the distance
between each sound wave. Um, as you know,
sound moves through the air in waves. And when
those waves reach our ears, we hear them as
sound. Now, sound waves that are close together
have a high sound, like a whistle. In contrast,
sound waves that are far apart have a low sound,
like thunder. Um, let me describe it another way...
2|t’s like dropping a stone into a pool of water.
The stone creates a circle of waves around it.
Near the middle, the waves are close together.
The waves that are far away are farther apart.
So, near the source of a noise, sound waves
are close to each other and have a high sound.
However, away from the source of a noise, sound
waves are far apart and have a low sound. But,
uh, surprisingly, all sound waves travel at the
same speed... Um, the speed of sound is around
1,200 kilometers per hour. 5So, again, why do we
hear the sounds differently?

S: Uh, is it because the distance between the sound

waves is different?

P: Good. Someone was paying attention... 3But

when we’re talking about the Doppler effect, it
isn’t just the distance between sound waves
that’s important. Movement is important, too. Um,
let’'s go back to our earlier example. You hear
an ambulance coming. When the ambulance is
moving toward you, you hear many sound waves
near the source of the noise. So the siren will
have a high sound. It will seem louder and faster
than normal. But now, as the ambulance moves
away, the sound waves you hear are getting
farther and farther from their source. So they
have a low sound. They seem lower and slower
than normal. “And what do you think happens if
the ambulance stops in front of you? Well, the
Doppler effect also stops. When the Doppler
effect is not happening, the distance between
sound waves stays the same. So you hear the
siren at a constant speed and loudness.

And why is any of this important to know? Well,
the Doppler effect is based on moving objects. So
we can use it to measure the speed and direction
of any moving object that produces sound. For
example, we can use it to detect thunderstorms,
measure how fast a car is moving, and even see
how blood moves through our bodies. So as you
can see, it's a very useful concept.
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P: So, again, why do we hear the sounds differently?

S: Uh, is it because the distance between the sound waves is
different?

Good. Someone was paying attention...
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5 4= 9 OfFA Hoh=k

P: Someone was paying attention...
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Note-taking

W:
M:

W:

Forming a cappella club, had some questions

Fill out a club registration form = here or on website
If approved, notify you by e-mail

Club already approved, how to get funding?
Participate in competition — travel = expensive

: Direct funding from univ. = $800 to $1,600/semester

Apply for external grants = offered by biz. or art group
Have to apply directly to org. that offer

Website = list of grants & links to org.

Need more help — stop by music dept.

Listen to a conversation between a student and a
student activities office employee.

M: Good morning. Is there something | can help you
with?

W:Yes, um, this is the student activities office, right?
Some students and | are forming an a cappella
club. And, uh, | had some questions about this...

M: OK. Well, first, you need to fill out a club
registration form. | can give you one here or
you can find one on our website. Once you’ve
completed the form, we will review it. Uh, this
usually takes a couple of weeks. If your club is
approved, we will notify you by e-mail.

W:Um, actually, our club was already approved last
week. | guess | should have mentioned it right
away. 'What | wanted to find out was how to




get funding for club activities. 2Um, for example,
we’re hoping to participate in singing competitions
against other universities. Obviously, we will have
to travel, and traveling can get expensive.

M: 3l see. Well, you have a couple of options... First,
all student clubs can apply to get direct funding
from the university. But, uh, it’s not a lot of
money.

W:Um, could you tell me how much we might get?

M: Depending on the number of members, the
amount can be anything from $800 to $1,600 per
semester. | can give you the application form to
fill out now. It should only take a week or so to
process...

W:Oh. That’'s much less money than | was hoping
for... And, we only have seven members, so we
might not even get the full amount.

M: That’s right. Groups that have 10 members or
less receive the lowest amount...

W:Well, that amount won’t even cover the basics.
3But you mentioned another option?

M: That’s right... Student clubs can also apply for
external grants. Um, these are funds offered by
business or art groups outside the school. These
organizations usually provide money every year
to support student groups.

W:Oh wow. That’s great. But, um, could an a
cappella club get one of these grants?

M: Possibly. There are a couple of grants for
students who are studying music. °The thing
is, you would have to apply directly to the
organizations that offer them.

W: That sounds a little complicated.

M: You can say that again... It also takes time. But
visiting our website should help. Um, it includes a
list of these grants, with links to the organizations
that offer them.

W:OK... Does the site also provide advice about the
application process?

M: There are some general recommendations.
But if you need more help, stop by the music
department office. Um, they can give you some
useful tips.

W:Great! Thank you so much. “Could | apply for
direct funding from the university now?

M: Oh, sure. Let me get the form for you...
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M: The thing is, you would have to apply directly to the
organizations that offer them.

W: That sounds a little complicated.

M: You can say that again... It also takes time. But visiting our
website should help. Um, it includes a list of these grants,
with links to the organizations that offer them.

5 Zjel2 of ol Lot
M: You can say that again...
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Note-taking
What Makes Ice Slippery

e Pressure-melting theory = pressure cause ice to melt
- Ice skates = weight transferred to blade — melt ice
- Problem 1 = slippery w/o pressure
- Problem 2 = pressure cause enough melting X

¢ Repeated mvmt. — heat — melt ice
- Ice slippery w/o heat

e | atest theory = ice has small layer of liquid on top
- Water = molecules move constantly
- Frozen water = molecules form bond & fixed = hard
- On top = exposed to air — bond X — fixed X

Listen to part of a lecture in a chemistry class.

P: Yesterday, we learned how a solid object
changes into a liquid. It has to reach its melting
point. And, in order to do that, you have to
increase the temperature or apply pressure to
the object... Now, with this in mind, let's move on
to our main topic for today... 'What makes ice
slippery? Does anyone want to guess?

S1: Um, isn't it like you said? We apply pressure
to ice when we walk on it. This causes the

0 Al22 =0i=L= CstH &4 At M2 HackersBook.com

surface of the ice to melt... Then, the melted ice
becomes slippery.

P: OK, that's a reasonable explanation. And since
the 19th century, that is what scientists believed.
2They called it the pressure-melting theory
because pressure from a heavy object can cause

ice to melt. Let me give you the example that is
commonly used. It’s, uh, from ice skating... On
the bottom of every pair of ice skates, there are
very thin blades, right? Now, when you put the
ice skates on, all of your weight is transferred to

the blades. So, according to the pressure-melting
theory, the blades create a lot of pressure on
top of the ice and melt it. That's what makes the
ice slippery. *But there are problems with the
pressure-melting theory. First, the ice is slippery
even without the pressure from ice skates. It's
also slippery when you walk on it with regular
shoes. 3And second, pressure doesn’t cause

enough melting. Um, for instance, scientists have
discovered that the pressure from a person’s
weight can only melt the ice a little. So, uh, you
would need to be extremely heavy to melt the ice
a lot... Are there any other guesses?

S2: What about heat? Doesn’t the act of moving
shoes or skates over ice create heat? Maybe it's
the heat that melts the ice. Or maybe it's both

pressure and heat.

P: OK. Once again, that’s a good guess based on
what we know about pressure and heat. In fact,
it's partly correct. °Repeated movements create
heat. So moving over ice can make skates
hotter. Then, the increased heat helps to melt the

ice, which makes it slippery... However, we also
know that ice becomes slippery as soon as you
step on it. So ice can be slippery even without

heat. We need a better answer.

4All right. So the latest theory we have is that
ice has a small layer of liquid water on top. This
happens due to the structure of water. Um, as
you know, another name for water is H,O. This
is because each water molecule is made of two
hydrogen atoms and one oxygen atom. Now,
in liquid water, the molecules of water move
around constantly. But when you freeze liquid

water to make ice, each frozen water molecule
sticks to another molecule next to it. They form
bonds and become fixed in place. This is why
ice feels hard. But what happens on the top
of the ice? There, the ice is exposed to air. So
some of the molecules in the ice are not able to
form any bonds. As a result, these molecules do
not stay fixed and continue to move around like
liquid water. This movement is what makes the
top layer of ice stay partly liquid. It is also what
makes ice slippery.
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Repeated movements create heat. So moving over ice can
make skates hotter. Then, the increased heat helps to melt
the ice, which makes it slippery... However, we also know
that ice becomes slippery as soon as you step on it. So ice
can be slippery even without heat. We need a better answer.
W O AHCEN FAUE 2|0|5H=7t
P: We need a better answer.
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Vocabulary Review =22p.112

1 slippery
4 criticism
7 fixed
10 (A)
13 (C)

3 canal

6 suburbs
9 concept
12 (A)

2 anthropologist
5 funding

8 unplanned

11 (C)

14 (A)
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CHAPTER 06

Connecting Contents

Example

A. Suggested: (A), (B), (D) Not Suggested: (C)
B. Carnivores: (A), (D) Herbivores: (C) Omnivores: (B)

E22p.115

A.

Note-taking

S: Applied for internship — interview on Thursday
Some tips?

P: Go online — learn about company
Practice answering interview questions w/ friend
Get to location b.f. interview — nervous | & prepare

Listen to a conversation between a student and a
professor.

S:
P:
S:

of

O ol O

apply for ~of X|@45iCH
tip @ =o€

Hi, Professor Nelson. Do you have a minute?
Sure, Carl. What’s on your mind?

| applied for a summer internship at a
manufacturing company, and | have an interview
on Thursday. | was wondering if you could give

me some tips.

: I'd be happy to. Let’s see... #First, go online and

learn all you can about the company. ® And make
sure to practice answering common interview
questions with a friend.

: Got it. Anything else?
: Pl also recommend that you get to the interview

location about 15 minutes before the interview
starts. That way, you will be less nervous and can
prepare for the interview.

: Great. Thanks for your suggestions, Professor

Nelson.
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e-taking
h of Different Animals

e Carnivore = eat only meat

- Front teeth = long & pointed .. catch & hold prey

- Back teeth = sharp & thin like knives
e Herbivore = only eat plants

- Back teeth = wide & flat .. help chew leaves & nuts
e Omnivore = eat both meat & plants

- Teeth = similar to our own

Li

sten to part of a lecture in a biology class.

P: So we’ve recently been discussing the diets
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of different animals. Well, the diets of different

animals have caused changes in their bodies.
Today, I'm going to talk about their teeth.

PIn carnivores, which are animals that eat only
meat, the front teeth are long and pointed. This
helps them to easily catch and hold prey. ATheir
back teeth are sharp and very thin. They are like
knives that cut meat into smaller pieces. °But, in

herbivores, which only eat plants, the back teeth

are wide and flat. They also have very rough
surfaces. This helps them chew leaves and nuts.

BFinally, there are omnivores, which eat both

meat and plants. Um, their teeth are quite similar
to our own.
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Listening Practice 1 22p.117

1(C) 2(B) 3(B), (C) 4 Yes: (A), (C), (D) No: (B)
5(D)

Note-taking
W: Want to know steps to form new org. = choir
M: Tell why you’d like to form a choir
W: Choirs compete = important for young singers
Get exp. performing on stage
Meet successful singers & get advice
: New clubs receive $100
: Choir needs money *." songbooks & costumes etc.
: Lower costs = own costume & library for songbook
: Perform only in competitions nearby
Need to find out how much interest is on campus

==z

Listen to a conversation between a student and a
student activities office employee.

M: Hi. What brings you to the office today?

W:Hello. '"Um, I’'m here because | have an idea for
a student club. But I'm not sure what to do. I'd
like to know what the steps are to form a new

organization.
M: OK... Could you tell me about what kind of club

you want to form? We might already have one
like it at the school.

W:Basically, | want to form a choir. 2Um, | was
shocked to hear that the school doesn’t have one
already.

M: | know! Actually, there was an old school choir
several years ago. But the students lost interest
in it over time. It would be great to have a new
one. So anyway, to start a club, first you’re going
to need to tell me why you'd like to form a choir.

W:Well, obviously, | like to sing. But other than that,
choirs often compete, which is really important for
young singers. *¢The students can get experience
performing on stage. *®®And they can also meet
successful singers and get advice from them.

M: Hmm... | suppose competitions are very useful
for students...

W:That’s why | want to start an official school choir.
Of course, we will need some money from the
school to enter competitions.

M:

SHmm... To be honest, new clubs receive just a
hundred dollars at first.

W: A hundred dollars? That's not what | expected... |

mean, a choir needs money to pay for songbooks,
costumes, bus tickets, and many other things...

:Well, don’t get discouraged. There are a few

options that you can try. One of the quickest and
simplest things you can do is to lower your costs.
“AFor example, you could have the choir members
make their own costumes instead of buying them
from a store. “°And, um, another idea is to go to
the library for songbooks. You can print out as
many copies as you need and take them with
you.

W:Yes, | guess we could do those things... “°And

for a while, we could perform only in competitions
that are being held nearby. Uh, that way, we can
get there easily on local transportation.

M: That's a good idea.

W:Before | submit a new club registration form,

though, | need to find out how much interest there

IS On campus...

M: Of course. Feel free to come back here anytime

you have a question.

W:Thank you, | will.
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lower () %=Ct nearby (B) 240A transportation (@) mE4ct ® Rivera = traditional & positive, scenes of everyday life
- European style at first — became more Mexican
1SS off SHMSIE T AFRAIS RO H=7|? - Used earth colors & symbols of land

® Orozco = negative, painted in dark & dramatic colors
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Listen to part of a lecture in an art history class.

2 Z2 9ff ojxel et HFHEE HGdt=7P? ]
L e ntalz el = o P: Last time, we learned about how art can be used
S = 2151 ols = od5| ol5| . . .
(A) 3t SOt2|E JRIs| 2let A 28317 flsh for different purposes. Um, for instance, it can
(B) 11 A| BHEEFCHO| Qi= A SRICH= Zi2 AAFSH7| 25t be used to communicate ideas and remember

important events. 'Well, today, we will look at
Mexican muralism, which was an art movement
in Mexico in the early 20th century. Specifically,
we will consider how muralism came about and
3 shdof| =, S Chg] FE2 SRR 2712| BE 12A| discuss its characteristics.

WE H7IM717] 218l

0.

280 Mexican muralism started as a project of the

(A) SAst0] LIZIS oflie 7|35 2= A Mexican government. Um, this happened after
(B) CIZ 71452 0ilT IS 2EE Hios 2 the Mexican Revolution of 1910 to 1920. You see,

_ the revolution changed Mexican society in many
(© 224 oM waife 4 b= 2 ways. Mainly, it gave more power to the middle
D) dFS L 7EEd=A and lower classes of Mexican society. So the new

of OfL|2
(A) RHelo| o a7 v
(B) HiAH 2RI v
(O X< chalof 2t &7tsh| v
(D) =MBHOIM L=2hi® Qlalfst| v

Cistel YRS CiA| E10 EEZ0]| HotAl2.

M: Hmm... To be honest, new clubs receive just a hundred
dollars at first.

W: A hundred dollars? That’s not what | expected... | mean, a
choir needs money to pay for songbooks, costumes, bus
tickets, and many other things...

5 sHi2 9ff o|=H Est=7t
W: That’s not what | expected...
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Mexican government wanted to remember this
important event. To do this, it hired well-known
Mexican artists to produce murals... Um, murals
are basically wall paintings. And, in Mexico, they
were painted on the walls of public buildings.

Why murals? Well, there were several reasons...
3COne reason is that the pictures on murals were
easy to understand. Uh, many people in the lower
classes couldn’t read or write. But they could
look at the pictures in a mural and quickly get
its message. *®Also, anyone passing by could
see the murals since they were painted in public
places. They were often large and colorful...

Um, the murals covered many themes and ideas,
too... As | said, they were intended to help people
remember the Mexican Revolution, so they were
often political. But the government also wanted
the murals to make Mexicans feel proud of their
culture, and, um, to think positively about the
future. So there were inspiring images of people
working together on farms and in factories.
‘Um, the government even tried to give artists



guidelines on what to paint. But, uh, thankfully,
these were later removed. Artists work better
when they have the freedom to choose their own
styles and themes...

OK. Now, among the artists who painted murals,
three became very famous. They were known as
“The Three Great Ones.” They were Diego Rivera,
José Clemente Orozco, and David Siqueiros. Um,
each one became known for a particular style and

theme of mural... For instance, Rivera’s work was
traditional and positive. He liked to show scenes
of everyday life or images from Mexico’s past.
%8Hjs murals were painted in a European style at
first, but they gradually became more Mexican.
They, uh, frequently used earth colors and
symbols of the land. Orozco’s murals, however,
were more negative. 5AThey were painted in dark,

dramatic colors. *®They were also often critical of

Mexico’s upper class. And, um, lastly, we have
Siqueiros, who was the youngest. Siqueiros was

involved in Communism and so his work often

had themes related to Mexico’s lower class. 5°But
he was also concerned about the future and
painted scenes about science and technology
with lots of bold lines.
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Note-taking

M: Just transferred, want to be involved in newspaper
Writer at old school .. want that position again

: Need to review application, deadline = Sept. 15

: Require short article?

: Not when apply, look over application — editor contact

: Write about certain topic or choose topic?

: Let us know section — get topic based on that
Article = 500~800 words long
All applicants = brief interview
Each summer, 2 students = intern at Boston Globe

=2sEs

Listen to a conversation between a student and a
university administrator.

M: Hi. Is this the office of The College Times?

W:That’s correct. We produce the student
newspaper for Boston College. How can | help
you today?

M: | just transferred here from Texas. | used to work
at a university newspaper there. 'So I'd really like
to be involved in the newspaper here. Um, do you
have any positions available?

W:Actually, we do. But what are you interested in
doing, exactly? Most students work as writers.

M: 2Well, | was a writer at my old school’s paper,
so | want to have that position again. Could you
explain the application process to me?

W:CFirst, we need to review your application to
make sure you have the right qualifications. So
you’ll need to submit one to us. °Keep in mind that
the deadline for applications is on September 15.

M: Got it. Um, just to check... Do you require a short
article as a sample?
W:Not when you apply. ®°Once we have looked over

your application, our editor will contact you to ask
for one.

M: Could you tell me more about that? Would | need
to write about a certain topic, or can | choose any
topic | want?

W:3AJust let us know which section you’re interested
in writing for in your application. Then, you'll get
a topic based on that. Your article will have to be
between 500 and 800 words long.

56 200 422 £0ik Clost 84 Ak K HackersBook.com

M: OK. And if the editor is satisfied with my article,
will | be able to write for the newspaper after that?

W:%Actually, there’s one more step. All applicants
also have to go through a brief interview. It gives
us an opportunity to find out more about you and
check if you'll get along well here.

M: | understand. Is there anything else | should be
aware of before | submit my application?

W:Well, some of our students have become
journalists at national newspapers after they
graduated. Some of them even hold workshops
for the students here.

M: That’s wonderful. It seems like it'd also be a
good opportunity for me to pursue a career in

journalism here.
W:Exactly. *In addition, each summer, two of our

students get a chance to work as interns at the
Boston Globe. It’s the city’s largest newspaper.

M: Wow. How are they chosen?

W:The company reviews several articles from each
student and then makes their selections.

M: OK, this all sounds amazing. I’'m going to go back
to my dormitory now and prepare my application.
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W: Keep in mind that the deadline for applications is on

M

September 15.

. Got it. Um, just to check... Do you require a short article as a

sample?

EfXh= olf 0|2 Zot=ok:

M: Um, just to check...
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Note-taking
Snowball Earth Theory
e Glaciers = form in ext. cold place

- Snow falls — turn into glaciers made of ice
- Glaciers move — carry sediments & leave marks
- Evidence in India & Australia = glaciers existed

e One of cold periods = ice spread — covered planet

- Turned Earth into frozen ball < name of the theory

e Recent explanation for Snowball Earth

- High rain & low carbon dioxide — water to freeze
- Ice spread — reflected sunlight — planet colder

Listen to part of a lecture in a geology class.

P: 'Glaciers are thick layers of ice that move across
the land. Uh, they are usually found in cold places
like the North and South Pole, or high mountains
like the Himalayas... However, scientists have
also found evidence of glaciers in parts of the
world that are mostly warm today. Well, now, we’ll
discuss a theory that might explain this. It’s called
the Snowball Earth theory. It suggests that almost
the entire planet was covered in ice a long time

ago.

So the Snowball Earth theory was developed
to explain how glaciers could have existed all
around the planet, including in places that are
warm today. You see, as | said, glaciers usually
form in extremely cold places. Um, they form
when snow falls in one area over a long period
of time. Eventually, the layers of snow turn
into glaciers made of ice. These glaciers move
because of gravity. 2When they move, they carry
sediments or bits of rock. 2°They also leave marks
in the ground beneath them. The sediments and
marks have been found in countries such as India
and Australia. This evidence is why scientists
believe glaciers once existed in places that are
now warm. So, um, we know for sure that glaciers
once existed in places around the world. The
question is, how did this happen?

Well, in general, Earth experiences two kinds of
climate: hot and cold. And, um, billions of years
ago, these two types of climate lasted a very long
time. So, for millions of years, Earth could be
hot. Then, for millions of years, it could be cold...
According to the Snowball Earth theory, during
one of the cold periods, the ice that is normally
found in the North and South Pole spread. And
the ice continued to spread until it covered most
of the planet. Um, this turned Earth into a frozen
ball. 3So if you looked at Earth from outer space,
it would have looked like a giant snowball...
Obviously, that is where the name of the theory
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comes from. 2 7 Bt Aol SHX|2 O =, FZ0| A LA, a2
O+O Ofo| sHHIS ©=x SH }o cCc= =
: SExcuse me, but what caused the Snowball Earth . %9|7AH‘§<E_$T7§ RIMRIO12. 0, B [itep| 27|
to happen? Uh, do we know what it was? FletAl= 0| BRst7| thzof 0%te X7E o B2 RS
. . . 012 0|2 ¥30| 2= X712l Y £& ZH0l| A= Lo x|
: Well, that's open for debate. A number of ideas oo T LIzt x| H250{Q

have been given, such as a change in Earth’s
orbit or, uh, changes in the atmosphere... There’s
no way to know for certain. But there is a recent
explanation for how the Snowball Earth could
have happened. “PAccording to this explanation,

glacier (&) &/t  exist Zf5iCt  extremely (B) o, =22
gravity (@ &2 sediment E[XMZ  ingeneral Yetxoz
debate @) =2 orbit Hx= cool down Al5|ct

high amounts of rain and low amounts of carbon outward (2] sfo=z  reflect (g) sttt eventually (2] 2=
dioxide in the atmosphere gradually cooled down tropical (&) &rhel

the planet. “This caused the water in the oceans

to freeze. That's what allowed ice to spread 1 oo FE =X2 FoelvR

outward .from the poles. “éBut then, as the. ice (A) 50| o380l THal =ol57| o4

spread, it reflected large amounts of sunlight

back into space. Uh, this made the planet colder (B) Wstol &M utEs HHat| 2l

since sunlight is needed to warm the earth. (C) 7|1Z wi5lof| Cist MZR 0|22 20177 | LlaH
4CThis continued until the ice eventually spread (D) 3Ako| 7H=3t 2lolS Maist7| of3

all the way up to Earth’s tropical regions, near the
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S: Excuse me, but what caused the Snowball Earth to happen?
Uh, do we know what it was?

P: Well, that’s open for debate. A number of ideas have been
given, such as a change in Earth’s orbit or, uh, changes in the
atmosphere... There’s no way to know for certain.
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P: Well, that’s open for debate.
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1) 2(C) 3(B) 4(B)-(C)(A)-(D) 5(D)

Note-taking

S:

DOTNT

Study Flamenco = Spain’s folk music & dance tradition
Visit family in Seville, interview dancers about Flamenco
Contact dance schools — set up interviews

E-mails to instructors — meet or answer over e-mail
Hard time meeting " summer break .. do it soon
Make 10 questions, interview 15, attend performances
If enough time X — smaller number will do

Make outline = 1 p., summary, expected outcome, time
Two meetings = go over outline & interview questions
Bring approval form, I'll need to sign

Listen to a conversation between a student and a
professor.

S: Thank you for agreeing to meet with me,
Professor Hayes.

P: No problem, Andrew. | got the e-mail that you
sent. 'Um, you said that you wanted to discuss
your research project, is that right?

S: Yes. | need to complete my research by this
summer, and it's already April. So I'm rushing to
get it organized.

P: °OK. It’s still possible to prepare everything in
time. Do you have a topic yet?

S: Yes. | want to study Flamenco... Uh, that’s
Spain’s folk music and dance tradition. I'm
already planning to visit my family in Seville for
eight weeks in June and July. 2l want to interview
some dancers about Flamenco while I'm there,
uh, to add to my research.

P: | see. That all sounds fine. However, | think it’s
important that we discuss a few more details
before you get started. “®Um, first, you should
contact several dance schools in the area that
you’re going to visit. That way, you can set up
some interviews before you get there.

S: That's a great idea. It would save a lot of time.
| was also going to send e-mails to some
instructors who teach Flamenco at universities
there. I'm hoping they can meet with me or
answer questions over e-mail.

P: 3You might have a hard time meeting with
instructors since it will be summer break. Most of
them will probably be away from campus. So if
you’re going to send them e-mails, you’d better
do it soon. Have you prepared your interview
questions yet?

S: Uh, no, | haven't, but I'm planning to make a list of
10 questions. And ideally, I'd like to interview 15
different dancers. I'm also planning on attending
some Flamenco performances while I’'m there.

P: | think that sounds reasonable. However, if you
don’t have enough time to interview 15 dancers,
a smaller number will do. “°Second, I'd like you
to make an outline for your research project.

]

o

o w

It should be around a page long, but it should
include a summary of your project, expected
outcomes, and how much time it will take to

complete.

: Sure, no problem. | can get started on the outline

right away.

: “AThird, you have to schedule two more meetings

with me before you leave. One to go over
the outline and a second one to go over your
interview questions. Is that all right?

: Yeah, that would help me a lot. I'm sure I'll need

more advice before | leave.

: “PFinally, make sure you bring me an approval

form. You’ll need to fill it out and I'll need to sign it
before the end of the semester.

: Perfect. I'll fill it out and leave it in your mailbox.
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P: OK. It’s still possible to prepare everything in time. Do you
have a topic yet?

S: Yes. | want to study Flamenco... Uh, that's Spain’s folk music
and dance tradition.

5 a2 9f 0|7 Hot=Tk
S: Uh, that’s Spain’s folk music and dance tradition.
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- Emit light " have many stars = contain a lot of heat
- Any color (e.g. oxygen — green, nitrogen — red)

¢ Reflection nebula = appear bright

- Size = measured based on area of brightness
- Produce own light X
- Light from nearby stars meets dust — reflect light

e Dark nebula = ext. cold " near any star X

- Piece of dust = covered in frozen gas — reflect X

Listen to part of a lecture in an astronomy class.

P: So we’ve been talking about large objects in
space... Um, if you remember, | told you that
a nebula is a large cloud of gas and dust, and
many stars are born in nebulas. 'Well, there are
different kinds of nebulas. And today, I'll mainly
discuss two types of nebulas according to their
characteristics...

2The first type is an emission nebula. So an
emission is something that is emitted, right? Uh,
it is something that is released in an outward

direction. For example, cars emit pollution, which
means they release emissions in the form of
harmful gases. Well, emission nebulas are named
for a similar reason. They emit light. S°Emission
nebulas emit light because they have many
stars. The stars are also extremely hot, so these
nebulas also contain a lot of heat. Uh, now, the
light of these nebulas can be almost any color.
3The color depends on the type of gas they emit.
For instance, if a nebula mostly releases oxygen,
the nebula’s light will look green. However, if
the nebula releases nitrogen, the light will be
red. 8BBecause emission nebulas can release

different gases, they sometimes look as colorful
as a rainbow! This makes them very bright and
beautiful. Now, one of the most famous emission

nebulas is the Orion Nebula. You can easily find it
in the sky because it is located just below Orion’s
Belt. I'm sure you all know Orion’s Belt... It's one
of the most familiar groups of stars in the night
sky. It looks like three stars in a line.

Anyway, the next type is called a reflection
nebula. Uh, like an emission nebula, a reflection
nebula can appear bright when we look at it with
a telescope. However, there are some major
differences. *For one, the size of reflection
nebulas is measured differently... They are
not measured by the size of the cloud of dust
and gas. Instead, they are measured based on

the area of their brightness. ®°Also, a reflection
nebula does not produce its own light. As its
name suggests, it reflects light into space. The
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light of a reflection nebula actually comes from
nearby stars. That is, uh, these stars are not
inside the nebula itself. As light from nearby stars
meets the dust in a reflection nebula, all of the
individual pieces of dust reflect that light outward.
But how the light is reflected depends on the
length of the wave of light... For example, blue
light waves are very short. And short light waves
are reflected more easily. *AThat’'s why reflection
nebulas often look blue in color...

So, uh, both emission and reflection nebulas are
classified as bright nebulas. éBut not all nebulas
are bright. In fact, there is another kind of nebula
that is not bright at all. Um, can anyone guess
what it's called?

: Uh, a dark nebula?

: Correct! Emission nebulas emit light. Reflection

nebulas reflect light. And dark nebulas are, well,
dark. That makes sense, right? But why are they
dark? Well, dark nebulas are extremely cold. This
is because they are not near any stars. They
are so cold that each piece of dust is covered
in frozen gases. As a result, the dust has a dark
color and does not reflect light. But, uh, we’ll talk
more about this next time...
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P: But not all nebulas are bright. In fact, there is another kind of

nebula that is not bright at all. Um, can anyone guess what

it's called?

Uh, a dark nebula?

P: Correct! Emission nebulas emit light. Reflection nebulas
reflect light. And dark nebulas are, well, dark. That makes
sense, right?
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P: That makes sense, right?
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Vocabulary Review 22p.132
1 carnivore 2 sediment 3 omnivore

4 mural 5 political 6 symbol

7 positively 8 exist 9 orbit
10 (B) 11 (B) 12 (B)
13 (C) 14 (A)

CHAPTER 07

Inference

W:Let me see... Oh, it seems that the library wasn’t
able to find a copy. It's very old, you see.

M: Oh, but | need it for a paper I'm writing.

W:I'm sorry. Um, maybe you could try going to one

of the used bookstores near the campus. They
might have a copy for sale.

M: All right. I'm just worried because my paper is due
very soon.

W:Then, how about asking your professor for an
extension?

M: Do you think that will work? I've never done that
before.

W:1 think you should at least try.
M: OK. I'll do that right now.
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(D) A A ZR2| HEOIM = 27|
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B.
A. Note-taking
Note-taking Celiac Disease

e Gluten = found in grains (e.g. wheat & barley)
e Some ppl. can’t eat . celiac disease
* Not know they have disease w/o medical test
e Others may experience symptoms
- Feel sick in stomach or have skin problem
- Can lead to bone loss & slow down growth of child
e Only 1 solution = avoid food w/ gluten
- Food providers offer more gluten-free prod.

M: Ordered book 2 weeks ago, arrived?

W: Find copy X *.* old — try used bookstore near campus
M: Paper due very soon

W: Asking professor for extension

Listen to a conversation between a student and a
librarian.

M: Excuse me. Um, | ordered a book two weeks ago
for my architecture class. It's called 79th Century
Bridges. Do you know if it's arrived?

0 Al22 =0i=L= CstH &4 At M2 HackersBook.com



Listen to part of a lecture in a nutrition class.

P:

protein CHHZL grain o=
barley 2|  disorder
=

Listening Practice 1

Gluten is a protein found in grains like wheat and
barley. Many people can eat it without a problem.
However, some people cannot. These people
have a disorder called celiac disease. Now,
normally, they would not know they have the
disease without a medical test. But others may
experience symptoms. For example, they might
feel sick in the stomach or have some kind of skin
problem. And, in rare cases, the symptoms can
be, uh, more serious. For instance, celiac disease
can lead to bone loss. And it can also slow down
the growth of children. Right now, there is only
one solution for people with celiac disease...
Um, they must avoid food with gluten. This is
why many food providers offer more gluten-free
products nowadays...
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1(A) 2(C) 3 Included: (A), (C), (D) Not Included: (B)
4(B) 5(B)
Note-taking

S: Submitted application & became candidate
Have leadership exp. = math & political science club
P: Become familiar w/ requirements & election process
S: Univ. give handbook — planning to read
P: Know what students care about
Talking to diff. groups of students
Sth. most overlook = importance of speeches
Explain why students should vote for you

Listen to a conversation between a student and a
professor.

S:

Hello, Professor Green. Am | disturbing you?
I can always come back another time if you're
busy.

: Hi, Julia. It's OK. Come on in.
: 'Well, as you know, student elections are coming

up. | submitted my application and became an
official candidate yesterday.

: That's fantastic! | hope you win.
: Thanks. 'Actually, | was hoping you could give me

some advice to improve my chances of winning. |
honestly don’t have any idea how to prepare.

. All right, then. Let’s talk about it. So is this your

first election?

1 Yes, it is. 2But | do have some leadership

experience. | was the leader of the math club in
my freshman year. I've also been the leader of
the political science club for the past two years.

: Nice. **Well, first, you’ll need to become familiar

with the campaign requirements and the election
process. You don’t want to lose because you
broke one of the rules.

: Got it. The university gives all of the candidates a_

handbook that explains everything. I'm planning
to read it this afternoon.

: Good. Now, let’s talk about campaigning. P5It's

essential that you know what the students care
about. Uh, you do know what their biggest issues
are, don’t you?

: 5Um, maybe school costs and student loans?
: You’re going to have to do better than that. Those

are old issues, and they’re too complex for a
student representative to deal with.

: Then... What are the issues | should consider?

: That's what you need to find out. AYou can do

this by going around the campus and talking to
different groups of students. The more students
you talk to, the better. “And | want to mention
something that most student candidates overlook.
That is the importance of making effective

speeches.

: What do you mean by that, Professor?
: 4l mean that a visit to a classroom isn’t just about

saying “Hello” and “Vote for me.” You need to
explain why the students should vote for you.
Students will vote for someone who can suggest
good solutions to problems.

: Well, | love talking to people and making

speeches. | did that all the time as the leader of
the political science club.

: That's a big plus. But you have a lot to do. So if

| were you, I'd sit down with my team and write
down a detailed plan.

: Thanks so much, Professor. | hope you'll let me

visit you when | need more advice.

CHAPTER 07 | Inference
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Listening Practice 2
1(B)

It's essential that you know what the students care about.
Uh, you do know what their biggest issues are, don’t you?
Um, maybe school costs and student loans?

You're going to have to do better than that. Those are old
issues, and they’re too complex for a student representative
to deal with.
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P: You're going to have to do better than that.
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5 Continental Plates: (B), (D) Oceanic Plates: (A), (C)

Note-taking
Two Types of Geologic Plates

e Continental plates

- Light & dense X ..

sink easily X .. float above mantle

e Oceanic plates
- Heavy & dense, made up of volcanic rock
- Tend to sink into earth’s mantle — form huge valleys
- Much thinner > continental plates, younger in age

e When oceanic & continental plates meet

- Oceanic plate = heavier ..

go under continental plate

- Create earthquake, continental plate pushed backward



Listen to part of a lecture in a geology class.

P

: OK... Let’s begin with a quick review. In the last
lecture, we learned about the earth’s structure.
In the center of the earth is the core. Next is the
mantle. And at the surface is the crust... Now,
remember that the crust isn’t just one solid layer
of rock. Because it's on top of the mantle, which
is mostly hot and liquid, the crust is always
moving. This, uh, causes the crust to break up
into large sections separated by cracks... These
sections are called geologic plates. There are
over a dozen of them... Um, some make up the
land we live on, and others are found beneath the
world’s oceans... 'For today, we’re going to focus
on the two types of geologic plates. These are the
continental plates and the oceanic plates.

Let’s start with continental plates... As you know,
we can divide the earth into continents, such as
Asia, Africa, Europe, and so on... Well, under
each of those continents are the continental
plates. They are composed of soil and rock. $8Uh,
these rocks are quite light and not very dense...
2And because they are not heavy or dense, they
do not sink easily. It’s kind of like a boat floating
on water. The boat is less dense than the water,
so it floats... The continental plates work in a
similar way. They float above the earth’s liquid
mantle... S°Also, the continental plates are
usually very thick. On average, they are around
40 kilometers thick.

In contrast, oceanic plates are heavy and dense.
5AThey are mostly made up of volcanic rock.
Um, when volcanoes erupt under the sea, they
increase the size of oceanic crust. Because
oceanic plates are heavy and dense, they tend
to sink into the earth’s mantle... As they sink,
they form huge valleys... This is why oceans
exist. The bottoms of these deep valleys are like
giant swimming pools. They hold the ocean’s
water, so, uh, the water cannot escape... And,
in contrast to continental plates, oceanic plates
are much thinner. Um, they are typically around
6 kilometers thick... °They are also usually
younger in age...

Now, what happens when an oceanic plate and a
continental plate meet? Let's look at an example.
3In the Pacific Ocean, there is a huge oceanic
plate. It's called the Nazca Plate. Well, the Nazca
Plate is slowly moving east toward the South
American Plate, which, of course, is a continental
plate. ‘So what happens where the two plates
meet? *Remember, oceanic plates are heavier
and denser... So the Nazca Plate goes under the
South American plate. Then, as this happens,
the continental plate breaks apart. *This creates
earthquakes in the area... Um, at the same time,
the continental plate is pushed backwards by the
oceanic plate. So, uh, this results in the formation
of mountains on land... In fact, that is how South
America’s Andes mountains formed a long time
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Listening Practice 3
1) 2(A) 3(©) 4D 5(C)

2 p. 141
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Note-taking

W: Someone | can speak about summer jobs?

M: You worked in univ. admin. office last year
Same office posted opening for that position

: Work somewhere new — new skills & diff. environ.

: Law firm downtown for receptionist = valuable exp.
Send résumé & two letters of recommend. by e-mail

: Issue = only previous job = univ. job last year

: Find ppl. who can confirm abilities (e.g. professor)
1 common mistake = not preparing for interview

: Résumé = haven’t updated .. work on that now

== ==

=

Listen to a conversation between a student and a
career center employee.

W:Hi. I'm looking for the career center. Am | in the
right place?
M: Yes, absolutely. Do you have an appointment?

W:No. | just stopped by. 'Is there someone | can
speak to about summer jobs?

M: | can let you know about some opportunities. Let
me find your student information on the computer
first... What's your name?

W:Oh, sure. It's, um, Lydia Lancaster.

M: OK... | see that you worked in the university
administrative office as an assistant last year.
It says you did a great job. ®*Actually, the same

66 200 422 F0jxk Clost 84 Ak M2 HackersBook.com

office has posted an opening for that position
this summer. | think you’d have a good chance of
being hired if you applied.

W:Hmm... Is there anything else? I'd rather work
somewhere new. It would let me learn new skills
and be in a different environment.

M: OK. There’s also a law firm downtown that’s
looking for a receptionist. It's mostly office work,
but it'd still be a valuable experience.

W:Hmm... That sounds interesting. How can | apply?

M: To apply, you need to send a résumé and two
letters of recommendation by e-mail. So you will
need to ask two former employers to write letters
for you.

W:2Um, that could be an issue. | have a résumé, but
my only previous job is the university job | had
last year.

M: | see... You’re not the first person to have this
problem. There are other ways you can solve
this. First, you can find other people who can
confirm your abilities and positive qualities, like a
professor.

W:1 guess | could do that. But if the law firm asks
about my previous experience, | won’t know what
to say.

M: If that happens, the best thing is to tell them that
you don’t have much work experience. But also
tell them you’re confident that you will do the job
well.

W:Right, that's good advice. By any chance, do you
have any other tips you could give me?

M: Well, one common mistake a lot of students make
is, um, not preparing enough for an interview.

W:3How can | prepare for an interview? | mean, it's
just the interviewer asking questions, right?

M: That’s true, but you can think about the kinds of
guestions they’re likely to ask you. That way, you
can prepare some thoughts before you get there.
You know, spend some time thinking about what
you'd like to tell the employer about yourself. Ask
yourself why you want the job, and what some of

your strengths are.

W:Yeah, that does make a lot of sense. *I'll do that,
but first, my résumé. | haven’t updated it in a
while, so I'll go work on that now... | want to make
sure it’s perfect.
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M: Actually, the same office has posted an opening for that
position this summer. | think you’d have a good chance of

being hired if you applied.

W: Hmm... Is there anything else? I'd rather work somewhere

new.
5 SHS 02| Yo=K 29U olojstet:
W: Hmm... Is there anything else?
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Note-taking
Market Segmentation
e Geographic segmentation
- Divide by where they live or work (e.g. country, city)
e Demographic segmentation

- Divide based on basic info. (e.g. ages, men or women)

® Behavioral segmentation
- Divide based on behavior (e.g. how to shop?)

e Psychographic segmentation
- Find based on psychology (e.g. interests, attitudes)
- Complicated *." gather info. about individual ppl.

Listen to part of a lecture in a business class.

P: 'So to continue our discussion of marketing, let's
look at market segmentation. This is the process
of categorizing customers by placing them into

different segments or groups. These groups
are based on characteristics that the customers
share. Doing this helps companies focus on
selling products to specific groups of people
instead of to everyone...

S: Sorry, um, isn’t it better to sell products to as
many people as possible?

P: Well, the goal is to sell many products, of course.

CHAPTER 07 | Inference
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But this has to be done efficiently. If you try to sell
to everyone, you can end up wasting time and
money with the wrong customers. Um, these are
customers who are not going to buy your product.
Segmentation lets companies sell products only
to potential buyers. This makes their marketing
more effective.

SAnyway, to start the segmentation process, you
have to gather information about customers. You
can do this by asking them questions in surveys.
Or you can buy the information from companies
that collect it. This information can be about the
customers’ incomes, jobs, education... You name
it. Once you have enough information, you can
create groups.

2Now, of course, there are many ways to create
different groups. However, | will discuss the
four main types of segmentation... First, there is
geographic segmentation. This means that you_
divide customers based on where they live or
work. So you can divide people by country, city,
town, and so on. Um, you can even divide people
based on climate. So, for example, a company
can sell winter coats only to people who live in
cold places.

OK, next, we have demographic segmentation.
Here, you divide people based on their basic
information. So you look at people’s ages,
whether they are men or women, and so on. 3Um,
so one example is a company that sells clothing.
It can use demographic segmentation to make
advertisements for customers who are men and
other advertisements for customers who are
women.

Third, there is behavioral segmentation. This is
where you divide people based on their behavior
as customers. How do they like to shop? Do they
shop through stores, websites, or smartphone
apps? Do they read about products or follow
social media influencers? Um, these are the kinds
of questions to ask. They help determine the best
way to communicate with customers.

And lastly, we have psychographic segmentation.
With this type of segmentation, you are trying
to find customers based on their psychology.
So, uh, this refers to characteristics like their
interests, attitudes, opinions, and so on... “This
is complicated and time-consuming because
companies have to gather information about
individual people. And, of course, every person is
so different. However, it can be useful because
it lets you focus your marketing on more specific
groups. For example, if you want to sell furniture
to certain young people, it helps to know how_
those specific groups of young people think.
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P: Anyway, to start the segmentation process, you have to
gather information about customers. You can do this by
asking them questions in surveys. Or you can buy the
information from companies that collect it. This information
can be about the customers’ incomes, jobs, education... You
name it.

5 W4 O PRie=i A ollsh=7t

P: You name it.

(A) SHHS0[ IPYE Ofsii=X| Helstr| 2lsh
(B) 2 OAI7} ACHE WS AMSE | 25
(C) oto[C|of7+ Of o] = Lt

(D) SPES0I7| B W2 MR AlekE RSst=S =245 25l

10 2(C) 3O 4MA) 5(B)

Note-taking
P: Yesterday’s class, talked about Francis Bacon
17c. = scientists used religious stories to explain world
Bacon = better approach = learn through observation
Science should look at indiv. events — develop idea
Ppl. would start w/ general principle & look for proof
S: 2 kinds of knwl. = matters of fact & relations of ideas
P: 1st = knwl. from experiencing things
2nd = ideas that are simply true (e.g. geometry)
Bacon = relations of ideas = useful X

Listen to a conversation between a student and a
professor.

S: Hello, Professor Miller. Um, unfortunately, |
couldn’t come to yesterday’s class because |
wasn’t feeling well. 'Could you tell me what you
discussed in class?

P: Sure. In yesterday’s class, we talked about

(7]

e

Francis Bacon...

: Oh, OK. I've heard the name before, but I’'m not

sure who he is exactly.

: Yes, well, he was an important 17th-century

philosopher. At that time, most people thought
that science and religion were the same. 2So,
um, it was normal for a scientist to use religious
stories to explain how the world worked. Bacon
had a better approach to science. He encouraged
people to learn about the world through
observation.

: That doesn’t sound like a big deal now, but |

guess it was pretty shocking back then.

: Yes, but that’s not the only reason Bacon was

important. He really wanted to make science
better. He thought that science should look at
lots of individual events separately and then try to
develop an idea that explains all of them.

: °You mean like developing a theory for why

something happened?

: Yes. This concept is part of what we usually call

the scientific method. Um, | assume | don’t have
to go over that in detail.

. Right, | studied this in one of my other classes.

According to the scientific method, you do
experiments to test your ideas about how

something works, right?

: That's correct. Now, this seems obvious to us,

but it wasn’t the normal way of doing things when
Bacon was alive. In those days, people would
start with a general principle and look for proof of
it in the world.

. | think | remember this from one of your lectures.

You said there are two kinds of knowledge. Um,
you called them matters of fact and relations of
ideas.

: Yes, exactly. The first kind is the knowledge that

we get from experiencing things in the world.
And the second involves ideas that are simply
true, like, uh, ideas from geometry. 3For example,
we don’t have to do experiments to find out that
a triangle has three sides. This is a relation of
ideas.

: | see what you mean.
: Bacon didn’t think relations of ideas were very

useful for discovering how things work in nature.
That’'s why he encouraged scientists to observe
events, make theories, and test those theories.
And, well, he was pretty much correct.

: I see. I'm glad | asked you about this. | can do

some more reading on my own.

: Yes. This was just a basic overview. 4So | suggest

you do more reading. Um, there’s a section on
Bacon in Chapter 8 of your textbook.

: Thanks, Professor. *I'll work on that right away.

A W= AFO[Q| THRHE S2AIR.

HEatM L, Miller w4, 5, IERL7 =, XM= Z0| 2F Z0tA 0
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S: You mean like developing a theory for why something
happened?
P: Yes. This concept is part of what we usually call the scientific
method. Um, | assume | don’t have to go over that in detail.
S: Right, I studied this in one of my other classes.
s 0| Letozi RS LS}
P: Um, I assume | don’t have to go over that in detail.
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Note-taking
Increased Interactions between Humans and Animals

e Interactions w/ animals have increased — discuss why
e Biggest factor = changes in land use
- Humans enter wild areas (e.g. mining companies)
- Chicago = ppl. moving from main city to suburbs
e Behavior of wild animals changing
- Get used to humans — fear X — diets can change
- Birds in city sing louder > birds in country
- Effect on genetics = find mate & continue growing
e Problems for ppl. = carry diseases & cause accidents
- Solutions = limit development, act differently



Listen to part of a lecture in a biology class.

P: "Animals have always been a part of human

communities. And as human communities have
grown, interactions with animals have also
increased. Today, we are going to discuss the
reason why this has been happening.

The biggest factor is changes in land use. 2Uh,
humans enter wild areas for a variety of reasons.
For example, mining companies go into the
mountains to look for natural resources like iron,
coal, and copper. When they do this, they build
mining communities for their workers. The same
thing happens when people enter forests to cut
wood. New human settlements are created in
areas that were previously wild. So, uh, contact
between humans and wild animals increases...
The same thing is happening with cities. People
are building more cities around the world. In
addition, many existing cities are becoming
bigger. As this happens, the amount of land used
for urban areas grows. Um, a good example is
the city of Chicago. Chicago has not had a large
population increase in a long time. However, the
amount of land used for urban areas continues
to increase. This is because people are moving
away from the main city. Uh, they want to own
houses in the suburbs. 3When this happens,
people move into land that was previously used
by wild animals. That’'s why people in these areas
see many wild animals.

Now, because more people and wild animals
are living in the same places, the behavior of
wild animals is changing, too. They are adapting
to urban environments. Naturally, most wild
animals are afraid of humans. They will not go
near people. However, as interactions increase,
the animals get used to the presence of humans.
They no longer fear them. “And they learn that
humans provide convenient sources of food.
Sometimes, the diets of these wild animals can
change as a result. Researchers have also found
that animals in urban areas can change in other
ways... °For example, some researchers studied
songbirds that live in cities. Interestingly, they
learned that birds in the city sing louder than birds
in the country. Can anyone guess why?

: Uh, cities can be very noisy. Maybe the birds are
trying to sing louder than the city noise.

: That’s what the researchers think too... And,
uh, this can have real effects on future genetics.
Uh, birds that sing louder are easier to hear. So
they are more likely to find mates and continue
growing...

And what else do you think happens? Well, the
larger presence of wild animals in cities can also
cause problems for people. For instance, wild
animals carry diseases. Diseases that come
from animals can be deadly to people. Uh, think
of the coronavirus, for example, which probably
came from a bat... And then, uh, there are other
problems, too. Um, wild animals can cause traffic
accidents when they try to cross busy roads.

These are just a couple of examples... To reduce
these problems, we have to find solutions. %8For
instance, we can limit new development in wild

areas. ®°Or we can also learn to act differently
around wild animals... For example, we can
change how we throw away food waste.
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Vocabulary Review E2p.152
1 grain 2 candidate 3 principle

4 observation 5 segmentation 6 geographic

7 potential 8 relation 9 dense
10 (A) 11 (B) 12 (C)
13 (C) 14 (A)
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Actual Test 1

1(C 2 3B 40 5B

Note-taking

W:

M:

W:

M:

W:
M:

Received 2 room fines, have to pay them?

1st = stain on carpet = my fault X, roommate spilled
Each roommate has to pay part

Tried talking to roommate?

She doesn’t remember, no choice but accept decision
Closet door broken = already broken when first came
Asked maint. manager to fix — never fixed

Repair X w/o form, she can confirm — cancel fine
Hard to contact her " busy " end of semester

I'll talk — save time

Listen to a conversation between a student and a
university housing office employee.

W:Hi. | was wondering if you could explain
something to me... Um, but just to check, this is
the housing office, isn’t it?

M: Yes, it is. Tell me what the problem is, and I'll see
if | can help you.

W:'Well, I'm moving out of my dormitory this week,
but | just realized | received two room fines. |
want to know if | have to pay them.

M: 5Can you give me a little more information, like
your name and which dormitory you’re in?

W: Sure. I'm Sienna Parsons, and I’'m in Brown Hall.

M: Hmm... | don’t see anything here... So these
fines... Uh...

W:I'll explain. Um, the first one has to do with a stain
on the carpet. But | know this isn’t my fault. My
roommate spilled a cup of coffee at the start of
the semester and didn’t clean it up.

M: Well... The rules state that it doesn’t matter if it
was you or your roommate who made the mess.
It's impossible for us to check whose fault it is, so
each roommate has to pay part of the fine.

W:I know that’s the rule, but it doesn’t seem fair.
Why should | have to pay when | didn’'t do
anything wrong?

M: Have you tried talking to your roommate? If she is
the one who made the stain, she might agree to
pay the fine herself, right?

W:2Uh... You don’t know my roommate... | tried
talking to her, but she says she doesn’t remember
who made the stain! And it’s not the first time
she’s been careless this way. Anyway, | guess
there’s no way for me to prove my case. So |
have no choice but to accept the decision.

M: Yes, unfortunately, rules are rules. There’s



nothing | can do... Now, um, can | help you with
anything else?

W:Actually, there’s still the other fine... Um, the
notice | received says that my closet door was
broken. But I'm not the one responsible for that,
either. You see, it was already broken when |
first came here... | even asked the maintenance
manager to fix it earlier...

M: You made a request?

W:Yeah... But she never fixed the problem. | didn’t
think it was that serious, so | just forgot about it
eventually.

M: Did she ask you to submit a form to report the
problem?

W:30h, no. | never submitted a form... She didn’t say
anything about that.

M: We don’t do repairs without that form, so that’s
probably why it never got fixed... But you can go
talk to the maintenance manager now. Maybe she
can confirm that you reported the broken closet
door. And once we hear from her, we can cancel
your fine.

W:It's going to be hard to contact her... She’s really
busy since it’s the end of the semester. Everyone
is moving out of their dormitories.

M: OK... “Then, I'll talk to the maintenance manager,
so you don’t have to do it yourself. That will save
us both some time, actually.

W:Wow, that’s so kind of you... Thanks a lot! | really
appreciate all your help.
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M: Can you give me a little more information, like your name and
which dormitory you're in?

W: Sure. I'm Sienna Parsons, and I'm in Brown Hall.

M: Hmm... | don’t see anything here... So these fines... Uh...
Z|@i2 off Ol Hot=otk:
M: So these fines... Uh...
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Note-taking
Thomas Cole

e Cole = famous for landscape painting
e 1825, became portrait painter in NY
e Natural beauty inspired — 1st landscape paintings
¢ Painted in Romantic style
- 1st in Am., wanted paintings to make feel emotions
e Represented America
- Inspired by actual places in America
- Telling story about America = new country
e Inspired other painters w/ style
e Early environmentalist = view against development

Listen to part of a lecture in an art history class.

P: Today, I'd like to continue our discussion of
American art during the 1800s. In particular,
I'd like to talk about an important painter called
Thomas Cole. Um, Cole became famous for his
landscape paintings. Landscape paintings, of
course, are a very common type of painting. You
know... They show scenes from nature, such
as mountains, trees, clouds, and so on... Cole,
however, became known for painting them in
a Romantic style. This means that they looked
very dramatic, almost like scenes from a movie.
SAnyway, let’s talk about what makes him an
important American artist.

So Thomas Cole was actually born in England in
1801. But he moved to America in 1818. From a
young age, he was interested in art and mostly
taught himself how to draw. He also received
some art training while in his teens. Then, in
1825, he became a professional portrait painter
in New York City. So, um, he started his career
painting pictures of people. "THowever, shortly

0 Al22 =0i=L= CstH &4 At M2 HackersBook.com

after moving to New York City, he visited the
town of Catskill for the first time. The natural
beauty around Catskill inspired Cole to make
many drawings. When he returned home, Cole
used these drawings to create his first landscape
paintings. The paintings were soon bought by
some famous art collectors in New York City.
They encouraged Cole to continue painting and
helped him to become a successful artist.

: 1°But, uh, what was so special about Cole’s work?
Didn’t many artists paint landscapes?

:I’'m glad you asked that. Well, one of the
reasons Cole was important is that he painted
in the Romantic style. This style was popular
in Europe at the time, but Cole was the first to
use it in America. So what this means is that
his landscape paintings were full of drama and
mystery. You see, Cole didn’t just paint nature.
He used his imagination... Uh, he thought that
a nice sunset or big storm clouds could provide
an emotional experience. And he wanted his
paintings to make the viewer feel these emotions.

OK. Now, another reason Cole is important is that
his art also represented America itself in a way.
Let me explain... First of all, Cole painted scenes
that were inspired by actual places in America.
So he was showing what America looked like,
both to Europeans and even to Americans
themselves. 8Um, you see, many Americans
during the 1800s spent most of their time working
in the cities. They did not have many chances to
go out and see America’s natural lands. °Plus,
through his paintings, Cole was also telling a
story about America. Um, you have to remember
that American Independence was just declared
in 1776. So, during the early 1800s, America
was still quite a new country. Cole’s paintings
captured that feeling by showing landscapes that
were wild, open, and full of possibilities for the
future.

""And lastly, Cole inspired other American
painters with his style. Some of these painters
formed a group and tried to paint in the same
style as Cole. Even many landscape painters
from the early 20th century showed Cole’s lasting
influence in their work. That’s almost a hundred
years later. That's quite a while. And, uh, Cole’s
significance even went beyond art... He was
actually an early environmentalist. During his
life, he expressed strong views against industrial
and urban development, particularly the way that
people were destroying natural lands to build
railways and houses... In this sense, his interest
in the environment and his art were closely
connected... After Cole died in 1848, the people
of Catskill named one of their mountains in his
honor. It's called Thomas Cole Mountain.
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S: But, uh, what was so special about Cole’s work? Didn’t
many artists paint landscapes?

P: I'm glad you asked that. Well, one of the reasons Cole was
important is that he painted in the Romantic style. This style
was popular in Europe at the time, but Cole was the first to
use it in America.
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P: And lastly, Cole inspired other American painters with his
style. Some of these painters formed a group and tried
to paint in the same style as Cole. Even many landscape
painters from the early 20th century showed Cole’s lasting
influence in their work. That’s almost a hundred years later.
That'’s quite a while.

11 = O YEe 2 RS 2loleh=Tt
P: That's quite a while.
(A) 2= 0|2 Dj20| 0 42|
(B) = AIRIS0| =H St 22| D|22| TUVHE YOot=X|

TCE S

ZRCI D MZESHTL

S
EAPON =

| st Aztsict

)

Actual Test 1

75



() 2= 22 g&k=o| J2A| 22 X|&E|UCh= Aol S
HIO}T|
= AN
(0) 1= Bo| 2io) Hx17} Oig B7HERIS 201Fm Aof
St
PART2. 22p.158

1€ 2(A) 3(A) 4(A),B 5

Note-taking

S: Struggling w/ asgmt. = topic & what you’re expecting

P: Write a report about reducing univ. environ. impact
Focus on idea or strategy or discuss program
Huge campus = a lot of resources .. important topic
80% of impact = related to ppl. on campus

S: About plastic waste = install water fountains

P: School already has free tumbler program

S: Provide bikes for free & limit # of cars & scooters
Set up repair stations & air pumps

P: 2-part asgmt. = present report & written report

Listen to a conversation between a student and a
professor.

S: Professor Grimley? I'm Robert Taylor. I'm taking
your environmental science course.

P: Hi, Robert. What can | do for you?

S: '"Well, I'm really struggling with the assignment
you gave us last week. | would like some
suggestions about it. Um, for instance, | don’t
know how to choose a topic. Also, I’'m not sure
what you’re expecting from us.

P: 3Well, | requested that everyone write a report
about reducing the university’s environmental
impact. So I'm specifically interested in things that
we can do on campus. You should focus on one
idea or strategy. Or, um, discuss a program that
would help accomplish this.

S: OK, that’s helpful...

P: ®And as you know, we have a huge campus
that consumes a lot of resources. So this is an
especially important topic for the university. 2For
instance, some of our buildings are extremely
large and old, and it takes a lot of energy to heat
and cool them. However, the university doesn’t
have any renewable energy sources.

S: And | assume that the student population has
a big effect, too. There are just so many of us
coming and going on the campus... All the cars
and waste probably have negative consequences
too, right?

P: You're right. About 80 percent of the university’s
environmental impact is related to the behavior of
the people on campus. And now that we all know
about climate change, we have to do something
about it.

S: 5Actually, that gives me an idea... It's about all
of the plastic waste on campus. We could install

0 Al22 =0i=L= CstH &4 At M2 HackersBook.com

of

2

more water fountains throughout the campus.
Then, students won’t have to buy bottled water.

: ¥Hmm... | don’t know about that. As you may

know, the school already has a free tumbler
program. The university gives free tumblers to
students so they can fill them up at fountains.

: Ah, | forgot about that! | have a tumbler, myself. |

guess water fountains wouldn’t make much of a
difference then... Um, what about transportation
on campus? | mean, our campus is extremely
large and a lot of people use their cars to move
around. All those cars release a lot of greenhouse
gases, of course...

: Uh-huh, keep going...
: Well, I'm thinking the university could provide

bikes for free. People could use the bikes to
go between their classes and their dormitories
or wherever else. And we could even limit the
number of cars and scooters on campus. At the
same time, for people who already own bikes, we
could set up free repair stations and air pumps for
them to use.

: 3That sounds great. Why don’t you go ahead and

start writing your report on this topic?

: OK, I will. And, uh, when did you say the deadline

is?

: Keep in mind that it's a two-part assignment. 4AAt

the end of the semester, everyone will present
their reports to the class. “®Then, the written
report will be due on the final day of class.

: Got it. Thanks, Professor, and I'll see you next

class.
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S: Actually, that gives me an idea... It’s about all of the plastic
waste on campus. We could install more water fountains
throughout the campus. Then, students won’t have to buy
bottled water.

P: Hmm... | don’t know about that. As you may know, the
school already has a free tumbler program.

5 e O LEo=M RS ollsh=7t:

P: Hmm... | don’t know about that.
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Note-taking
Removing Pollution from Soil Using Fungi

¢ Developing methods to remove pollution = use fungi
e Fungi = thousands of diff. kinds
- Break down org. — new materials — used again
e Carbon = form of pollution
- Fungi can easily break down — source of food
® Use fungi to remove metals = diff. process used
- Fungi’s branches attract metals " diff. in atoms
- Cheaper & use less energy & leave chemicals X
- Perfect X " too slow & need lots of fungi

Listen to part of a lecture in a biology class.

P: For the past week, we’ve been talking about the
problem of soil pollution. It is mainly caused by
industrial activity, oil spills, chemicals used in
agriculture, and so on. And of course, pollution
is harmful to human health. ®Well, recently,
scientists have been developing new methods
to remove pollution from the soil. Some of these
methods use fungi.

So, uh, first, let's talk about the basics of fungi.
There are thousands of different kinds. All of
them help to maintain the health of the natural
environment. "They do this by breaking down
organisms that have died. Thus, they turn
them into new materials. And, uh, these can
be used again by other living things. How does
this happen? Well, to find out, we have to look
underground... Uh, normally, we only see a
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small part of fungi above the ground, right?
For example, we see this part when we see a
mushroom... But this is just the part above. Most
of the fungi is underground, and the underground
part grows very big. They have branches that
spread over a wide area. These branches are
just like the roots of a plant. They absorb water
and nutrients from the soil. But the branches also
help fungi break down organisms that have died.
You see, when plants die, they break down into
smaller materials that enter the soil.

And to get nutrients from these materials, the
fungi have to break them down further. This
is where the branches come in. The branches
release special chemicals that break down the
plant materials into even smaller materials. Now,
the fungi can use the materials as food. '"And
what’s interesting is that the fungi’s branches
don’t just absorb nutrients from plant materials.
They also absorb nutrients from pollution...

: Hold on a second, Professor... We’re talking
about pollution, right? | don’t see how that works.
How do the fungi get nutrients from pollution?
Aren’t pollutants dangerous chemicals?

: Yes, but carbon is a form of pollution. 8And the
oil and the chemicals that farmers use to Kkill
insects contain carbon. Carbon is also found in
the materials left by plants after they die. So fungi
can easily break down carbon pollutants. For the
fungi, this type of pollution just becomes another
source of food. That’s the first method of using
fungi to remove pollution.

Of course, there are pollutants other than carbon.
These are metals, like lead and mercury. Metals
usually come from factories and they are much
more dangerous to humans. They can also last
a very long time in the soil. °To use fungi to
remove metals, a different process is used. The
fungi don’t absorb the metals. Instead, the fungi’s
branches attract the metals like a magnet. Um,
this happens because of differences in the atoms
of fungi and metals. The two kinds of atoms
attract each other. So what happens is that the
metals stick to the fungi’s branches. Once the
metals are stuck, the fungi can be removed from
the ground and thrown away. In some cases,
it's also possible to separate the metals from
the fungi and use the metals again. This second
process has many advantages. For instance,
it's cheaper than other methods since you only
have to plant fungi in the ground. Second, it uses
less energy than other methods because the
fungi do most of the work. And third, it does not
leave behind harmful chemicals like some other
methods do. However, this process isn’t perfect
yet. 1%°Um, for one thing, it's too slow... People
are polluting the soil faster than fungi can remove
it. 1°®Also, you need lots of fungi for it to work
effectively. So scientists are still trying to find a
way to make the process more useful.
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pollutant QA =& carbon (@) EtA  contain (&) Z&sICt 16 (D) 17 (C)

lead (@) & mercury (@ 2 magnet () Xt
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Note-taking
6 e F2 20| Baf =olsteTp Durand Line
(A) ESF Q0|| OJ5H BHA5H= SRS e Durand Line = separates Afghanistan and Pakistan
(B) E042 51 317] Sls 2Tt AFRE] 4 QI uhy e Created in 1893 = India was colony of British Empire
e="A T e eET M=eH - Afgh. wanted clear border "." Brit. influence X
O TF MECE R2E0 QS0 85 - Brit. secretary w/ Afgh. leaders created border
(D) 227} EQ0l| M k2 S o b e Pakistan & India independent — increased opposition
- Pashtuns = main ethnic group in Afgh.
7 e 7RO Bl 2oiolz2tn oteETf - Pashtuns in Pakistan = other options X .. unhappy
= o _ e 1947~, Afgh. has not accepted Durand Line
(W) IRSE SR 2 BIRS YU, * Problem became international issue
(B) 2252 E0| 21t HAES CIFHCE
(@ 2N52 5 A= el XM 2HE Listen to part of a lecture in a sociology class.
(D) 2AE2 2 R7INES MAIE 7t58 SR = HiEL
P: '2Today, we’re going to learn about a conflict
8 A0 MEH ZE7} 7|20 XM ALRE|S Blet SEo|A over a border between two countries. This is a
LIQL O A2 2a)at 4 9| 0|9 Dofol7p political dispute that has been going on for many
years and continues today... '*ASpecifically, I'm
(A) 2 20| EX0]| HFs| S0{7tCY. talking about the Durand Line, which separates
(B) RES0| MA QY 252 2afjsic) Afghanistan and Pakistan. This border is over
D) Bt 22 2 SE2 KMo fF0l| ZatE=rt

58Uh, the Durand Line was originally created
in 1893. At the time, India was a colony of the
British Empire. And what is Pakistan today
o1| EI-IEE1 =X|2 Zx57] /8l was still a part of India. *But, uh, the leader of
Afghanistan wanted a clearer border between
his territory and that of India. He did not want

= = YYS Hgs| 25 England to have any influence in Afghanistan.

(D) &7} Wo|M HHZ| = S MEsty| sl So, uh, a British secretary named Mortimer

Durand worked with the leaders of Afghanistan

10 m20) CEH, £ 2ES N7 EH7| Q5 F22 AlRsI= to create a border... Thus, the Durand Line

74| chEe mojolzp was formed. For a while, Afghanistan accepted

2ol Ee 1EA|Q. the line as its border. But after Pakistan and

India became independent in 1947, there

(A) 22 e UHEEct o g2 =0| =0t was increased opposition to the agreement in

(B) 1740| EH=5}7| QJsilAls S oko| R27} WO BT} Afghanistan. This was when the British left the
(©) 2242 30| ARSI 242 5185HK| =rt Ll

S1: Uh, but why exactly? | mean, Afghanistan
accepted the Durand Line before, right? So what

i i ?
fo|o| UHZ CHA| E1 20| TI6tA|L. changed their minds”

: And what’s interesting is that the fungi’s branches don'’t P: Well, actually, the agreement LR VLR popular
just absorb nutrients from plant materials. They also absorb in Afghanistan... The country’s leaders simply
nutrients from pollution... accepted it because the British had some power

S: Hold on a second, Professor... We're talking about pollution, ar;ld Influetr;oe in the rekglon..f. That pomﬁar atﬂd

right? | don’t see how that works. How do the fungi get Influence became weaker, ot course, aiter the

) . , British left. So, um, when the Biritish left, people
nutrients from pollution? Aren’t pollutants dangerous . . .
chemicals? in Afghanistan thought the Durand Line was no

oN

o

longer valid.

11 3PS o|2A| Yatozu BS ololsh=T}: And they also thought it was unfair for
S: We're talking about pollution, right? other reasons. “Uh, after Pakistan became
(A) T= m20| =XH0| 817 | {4 AJZsiCt independent, there were problems between two
(8) 1= Rojo] o|n|= Slolstn Alo| ict ethnic groups or tribes. You see, there were two

—=° =T == main tribes in the region: the Punjabis and the
(O O np7t U5k A4S BH=oi 37| S HIZCh Pashtuns. Both of these groups were Muslim.
(D) = AT} AIAE SHCHT AZEsICH But they had ethnic differences. And they

were like political rivals... Now, Pashtuns are
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considered to be people of Afghanistan. They HHEE HZ?

have been the main ethnic group in Afghanistan P: S, AR O #Fe otmIHL| AN Q17|7F UAE E 0| gio]
since the 1700s. In their view, the Pashtuns in Q. Li2te] XEAISS THx| 920| 11 X0)A 0= HEo|
Pakistan should have been given other options. 57} QS J1X|T 9I917| Mo IS HolSSiole . 2
e =] oo = PYVIN VI — AT cVIEAvVls. &
Specifically, they should have been allowed 2 7 8j7} QEFIS 4220| Lt S0f FFHOI. TPA, 2 o
to join Afghanistan. Or they should have been oo et ecns < i
allowed to create their own independent state. 0| iSO, OFEH AT MBS 2 RRAUEMO0I K 01 7=
Instead, their homeland became part of Pakistan. SHA| Tt H2IsHZ
6So the Pashtuns were divided between J2|1 1SS CHE 0|]E WR0|= 1210 E2H3ICH A4zt
Afghanistan and Pakistan. Those in Pakistan FHOIQ. Of, T |AEHO| S2I5H S0f, £ 0IE FTH 52 BEE A}
were especially unhappy about the situation. In 00}l EX|7} UL A2LIE T K|0fl= HAIH|ED} T E
Pakistan, they were nqt a majority group and had Z0[2ts © o] =Q BE0| YUSLICE 0] FITHS S Cf 0j2
to be ruled by the Punjabis. RIEHOIR. SXI3 ISP BIEA AolFS0| URolR.
PAnyway, since 1947, the Afghanistan J2|0 152 MR 202 20 . A} IrEES of
government has not accepted the Durand Line JIL|AEIO| BIZOZ 0§ Q. 1SS 1700 EE] OFZIHL|
at all. Um, this is interesting because the type of AELO| ZQ OIE FCHO|OJRIE. TS| BF0|AM, T | AL Q)
government in Afghanistan has changed many L IASES Cj2 MEIRISS HIAl0f0} sle. IAEo 2
times over the years... It .has had a republican arsiel D=2 0fm7ILIAEI] BHE5le 70| 5/2E/21010F 3
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Actual Test 2

1(B) 2(C) 3()
4 Included: (A), (C), (D) Not Included: (B) 5 (A)

Note-taking
W: 3 exams scheduled for same day

M: Deadline to report schedule conflicts = last Fri.
W: Access the website X for a while

Contacted IT dept. — solution X
History 103 = Tue. @ noon = 2 other exams that day

M: Permission to reschedule = allowed for emergencies

Application = mention trouble accessing website
Get IT dept. to confirm — brief note
Write down name & job title of IT dept. person

Listen to a conversation between a student and a
university employee at the registrar’s office.

W:Hi. Uh, sorry to bother you. 'But, um, | just found
out that | have three exams scheduled for the
same day. That's way too many. My friend told
me | could report this here.

M: That’s true, but the deadline to report schedule
conflicts was last Friday. Also, as you know,
it's been more than two weeks since the final
schedule was uploaded on the school website.
So you should have reported the problem earlier.

W:5Right... Um, | was worried that something like
this would happen, so | printed out a copy as
soon as the schedule was posted. Everything
was fine then...

M: Well, at that point, the schedule was not fixed.
Um, this was clearly stated on the website as
well. It was probably changed after you printed it.

W:Oh, | didn’t know that the schedule could change.

M: Yes, that's why it's important to check for the final
version of the schedule.

W:2But actually, | haven’t been able to access the
school website for a while now...

M: Really? Have you contacted the IT department?
They should be able to help you.

W:Yes, | have. They said that there have been
problems lately and many students have reported
similar issues. Um, they didn’t have a solution,
though. They just said that | should try again later.

M:2Hmm... That’s not good. Everything about
university policies and schedule changes is
posted online. What exam do you need to
reschedule?

W:Uh, that would be the exam for History 103. It
was originally scheduled for Monday at 10 in
the morning. Now it is being held on Tuesday at
noon. | already have two other exams scheduled
for that day, and I’'m afraid this will affect my
scores.

M:3Um, students that are unavailable at the
scheduled exam time can request permission to
reschedule the exam. Usually, this is only allowed
for emergencies, such as a serious illness.

W:Um, but my situation is a little different... Do you
have any other suggestions?

M: The best | can do is to give you an application
form to fill out. “°Make sure you write down that
you didn’t know about the schedule change.
You should also mention that you had trouble
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accessing the university’s website. | can’t make
any promises, but they might agree to make an
exception for you.

W:Um, OK. It doesn’t seem like | have a better
option, so that’'s what I'll do.

M: #Alt would also be very helpful if you could get
someone from the IT department to confirm
that the website could not be accessed. They
should write a brief note about it. The person who
reviews your application might be more likely
to listen to another university employee than a
student.

W:That’s a great idea. Um, would you let me know
where the IT department office is located?

M: Sure. It’s on the first floor of the administration
building. “°Uh, by the way, don’t forget to
write down the full name and job title of the IT
department person you talk to.

W:Thanks for all of your help!
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W: Right... Um, | was worried that something like this would

happen, so | printed out a copy as soon as the schedule was
posted. Everything was fine then...
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PART1. o
6 (D) 7 (C) 8 (B) 9 (C) 10 (B) 11 (C)

Note-taking
How Scientists Have Determined the Age of Earth

e Bf. geology, ideas about Earth’s age < Bible = 6,000

e Scientific attempts to find age of Earth = Kelvin

- Calculated time for Earth to cool & become solid

- Mistakes = temp. diff. fixed & inner part = solid rock
- Concluded that Earth = 20~400 mil. years old
e Geologists = studying layers — Earth = billions of years
e 20c. a new method = radiometric dating
- Finding age of object by measuring radiation inside
e Carbon dating = used to find age of sth. alive in past
- Most effective when used together w/ others
e Scientists now believe Earth = 4.5 bil. years old

Listen to part of a lecture in a geology class.

P:

6ln the 17th century, scientists studying Earth’s
rocks realized that the planet must have gone
through many changes in its history. This caused
them to think about the planet’s age. Uh, and
they have tried different methods to determine it.
Today, we’re going to discuss some of these...

Um, before the science of geology was
developed, many Europeans got their ideas about
Earth’s age from the Christian Bible. They thought
Earth was around 6,000 years old. But by the
17th century, people increasingly used scientific
methods to study the planet.

One of the first scientific attempts to find the age
of Earth was done by Lord Kelvin in the 19th
century. Lord Kelvin knew that Earth was hotter
under the surface. Because of this, he thought
that Earth began as an extremely hot liquid...
‘Um, he believed that Earth was originally
about 4,000 degrees Celsius. And, uh, he also
believed that the planet had been cooling at a
constant rate ever since it was formed... So Lord
Kelvin tried to calculate the time it would take for
Earth to cool and become solid. To do this, he
measured Earth’s temperature. His calculations
were based on the change in temperature every
15 meters. But Kelvin made some mistakes. First,
he assumed that temperature differences were
fixed. And he thought that the inner part of Earth
was made of solid rock. 8Still, he calculated an
age that was older than most people believed. He
concluded that Earth was between 20 million and
400 million years old. Today, we know that Earth
is much older. But considering Kelvin worked in a
much earlier time period, this is quite impressive.
Although Kelvin was not correct, he used modern
scientific methods. So his work inspired later
scientists...

Since then, finding the age of Earth has
become more precise. So let’s look at a couple
of other methods... °Geologists know that
some rocks occur in layers. These rocks are
called sedimentary rocks. Naturally, layers of
sedimentary rocks that are beneath other layers
are older. And layers that are closer to the
surface are younger. By studying these layers,
scientists learned that Earth was not just millions
of years old. It was actually billions of years old.
Still, studying layers did not produce exact results
about Earth’s age.

Then, in the early 20th century, a new method
was discovered. This method is known as
radiometric dating. Um, the word radiometric
comes from two words that mean radiation and
the process of measuring. So radiometric dating
is a method for finding the age of an object by
measuring amounts of radiation inside it. You
see, many rocks on Earth are made of materials
that contain radiation. These are radioactive
elements, uh, like radium and thorium. If a
material has radiation in it, it will break down over
time. And, uh, scientists know exactly how fast
each radioactive element breaks down. So, um,
by measuring the radiation of materials in a rock,
scientists can guess how long ago the rock was
formed.

: Um, I’'ve heard of carbon dating. How is that

different from radiometric dating?

: Well, carbon dating is a type of radiometric

dating. It is mainly used to find the age of
something that was alive in the past. This is
because carbon is left behind by living things, like
plants and animals. It is most effective when it
is used together with other forms of radiometric
dating because it is not enough on its own. °One
reason is that carbon breaks down more quickly
than other materials. It only lasts about 10,000
years. Other materials, like uranium, however,
take millions of years. That's why other materials
are more useful.

""Anyway, using radiometric dating, scientists now
believe Earth is around 4.5 billion years old. This
is much older than Kelvin predicted. However, it
is still a mere guess. And we probably will never
know the exact age of Earth.
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Note-taking
S: Struggled w/ concept = opportunity cost



P: Opp. cost = what you lose when choose one
E.g. factory = limited materials = choose what we make
6 violins & 2 guitars, 3 guitars & 4 violins
1 guitar = 2 violins, opp. cost of 1 guitar = 2 violins
S: Opp. cost of going to the movies?
Movies X — stayed at home & study
P: Every time choose one thing = give up something

Listen to a conversation between a student and a
professor.

S: Hi, Professor Jennings. 'Um, | have a few
questions about the lecture this morning.

P: You’re, uh, Billy, right? From my economics
class? I've still got some time left. What did you
want to ask me about?

S: 'To be honest, | really struggled with one of the
concepts you discussed... Uh, opportunity cost.

P: OK, let me try and explain it some more. At the
beginning of the class, | provided an explanation
of this concept. 2Basically, opportunity cost is
what you lose when you choose to do one thing
over another.

S: Hmm... ’'m not sure | understand.

P: All right. 2Let me give you an example. Let’s
imagine that we own a factory that makes musical
instruments. *And our factory only has a limited
amount of materials. That means we can’t just
make whatever we want. We have to choose
what we make.

S: | see where you’re going... If we make a certain
number of violins, then that changes how many
guitars we can make, right?

P: Exactly. If we make six violins, for example, then
we can only make two guitars. And if we want to
make three guitars, then we can only make four
violins.

S: That makes sense. If we make more of one thing,
then we have to make less of another thing. Um...
But what does this have to do with opportunity
cost?

P: Well, in our example, when we wanted to make
one additional guitar, we had to make two less
violins. So the opportunity cost of one guitar is
two violins.

S: So we lose two violins for every guitar we make...

P: Right. The opportunity cost is the value of the
two violins. If we can make $100 from selling two
violins, then our opportunity cost is $100. That is
the value that we lose to make one more guitar.

S: OK. That example helps... *Um, but what about
other choices that aren’t quite as simple? How
do | calculate the opportunity cost of going to the
movies, for example?

P: Well, what you’re talking about is an opportunity
cost that cannot be seen. Um, you brought up
a good example, so go ahead and tell me more
about that.

S: OK... If | buy a movie ticket, the opportunity cost

is the value of everything else that | could have
bought for the price of a movie ticket. But | think
money isn’t the only thing that | lose...

: Yes, keep going...
: Uh, for example, if | hadn’t gone to the movies,

then | could have stayed at home and studied.
What'’s the value of that? | guess studying can
help me get good grades and a good job after
graduation. Those things would be very valuable
in the future.

: Yes, those are also examples of opportunity

costs. Every time you choose to do one thing,
you have to give up something else that has
value. “Uh, there’s a good chapter on this subject
in the book, Introductory Economics, by Michelle
Waldman. It’s in the library if you'd like to read it.

: That’s a good idea. I'll head over there right now.

Um, thanks for taking the time to go over this with
me.
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e Blocks sunlight from entering water
e Solving problem = challenge

economics AXst  concept W]
opportunity cost 7|g|H|&  imagine AbAbSIC
musical instrument 27| additional ESyjeslel

valuable TR Qe

1 8tio] 2x| 2oil

>
N

17 =2 IS BHe o 0f2i8S 21 QUCh
2 of2{Sg 1 Ut

X|ofl chaH

)
L |
=1 rr rr
o
RalNG
e
ok rir
>
el
mjo
<2
“
A
[n ey
o
o
o m
rr

g
(]
rir
|J
1o
oM
é
el
[
)
]

o
-+
rr
P
=2
i)
=I(JI__I
0=
_|\l
o
kl
30
_lT|_

(N =HE

B)ids

O 7|2lH182| HEE ZZxae=N
O

(D) &1t Gat2ts H| st CHESo =4

s
e
El
30
ol
i)
H
o
P
N
40
ol

(A) 27t Z=Hof| T3
(B) 7ol cigt 212
(© CHE FAst gl of
(D) Btz 7t =

o
o
==

Y
> 0
oy

S
=|
9>
2
X
oM
=
1on
&
e
m
N

Cistel USRS ChA| E1 0] HotA2.

P: And our factory only has a limited amount of materials. That
means we can’t just make whatever we want. We have to
choose what we make.

S: | see where you're going...
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S: | see where you're going...
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- Work together & more recycling
- Manufacture plastic that break down quicker
- Clean up garbage patch

Listen to part of a lecture in an environmental
science class.

P: OK... 8Let’s continue our discussion of pollution in
the ocean... Today, | want to focus on a specific
example. This is the Great Pacific Garbage
Patch. This area of the Pacific is a huge floating
island of garbage. It is located in the northern
Pacific Ocean... Uh, it's about halfway between
California and Hawaii...

So, uh, how did a large island of trash get in the
middle of the ocean? Well, it started with people
throwing away garbage the wrong way. “Instead
of using a garbage site, some people throw their
garbage in the water. Many times, these people
are just careless individuals who throw their
garbage wherever they like. But, unfortunately,
some companies do this as well. Either way, most
of the garbage is plastic... This includes fishing
equipment, water bottles, and other things like
that... And, naturally, plastic materials float rather
than sink. Moreover, they do not break down fast.
So, uh, the plastic just stays on top of the water
and piles up...

Um, this garbage was not thrown away in the
middle of the ocean, though. It came from many
different areas. In some cases, it traveled 1,000
kilometers or more. Then, what brought it here?
8lt's mainly ocean currents. Various currents in
the Pacific Ocean come together in the region.
They cause the water to move in a circle.
Because the water moves in a circle, the garbage
patch cannot break apart. And as new garbage
arrives, the pile keeps getting bigger...

Now, the garbage patch is far from where
humans live. So it doesn’t harm us directly.
However, it can be harmful to marine life...



Some of the plastic eventually breaks into
smaller pieces. Because plastic is often clear, it
can look like small prey, such as plankton and
shrimp. °As a result, many animals think the
plastic is food. When animals eat lots of plastic,
it can be deadly... Uh, the United Nations has
an environmental program, and its researchers
estimated the number of deaths. They believe
that plastic garbage has killed more than a million
seabirds and over 100,000 marine mammals.
Um, and another harmful effect of the garbage
patch is that it blocks sunlight from entering the
water. Many important organisms, like plankton,
depend on sunlight to survive. The dark shadow
below the garbage patch does not support these
creatures. So the fish and other organisms that
eat plankton cannot find enough food...

°Well, then... What can we do about the garbage
problem in the Pacific? Unfortunately, solving
the problem will be a challenge. This is because
it requires international cooperation. Everyone
must do their part to help. But, at the same time,
no country wants to take responsibility. Still, we
must take steps to protect the Pacific. '"ATo start
with, all countries should be encouraged to work
together. "°Second, we have to stop throwing
garbage into the water and put more resources
toward recycling. This is a form of prevention,
and it is the most sustainable solution. '"°Third,
we must manufacture plastic that will break
down much quicker. This would help a little, but
only if we also limit the amount of garbage that
people throw away as well... Finally, we must
clean up the garbage patch. This is challenging
because of the extreme cost. However, it is not
impossible. '"®0One option is to build large ships
with machines that can turn plastic into oil. The
oil can then be used to pay for cleaning costs.
In summary, we can get rid of the Great Pacific
Garbage Patch if we use different methods. We
have to stop garbage from entering the water,
find better ways of making products, and clean up
the garbage patch itself.
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Note-taking
Classical Conditioning

e Psychological conditioning = associative learning
- Learns to associate two ideas, event, or actions
e Pavlov used dogs in exp.
- Introduced sound — gave food — dogs learned
- Sound — food X — dogs responded — lost interest
e Conclusions about conditioning
- Dogs had interest in food, no interest in sound
- Developed response to sound & food
- After conditioning — response to sound itself
e Experiment 2nd time — dogs learned faster
e Used other signals — produced same result

Listen to part of a lecture in a psychology class.

P: '2Today, we’ll talk about a famous idea in
psychology. It was developed through the

88 0| AlziS =0oj=L Clokst 5k XF2 M2 HackersBook.com

experiments of lvan Pavlov, a Russian scientist,
in the early 20th century. '2Specifically, I’'m
referring to classical conditioning.

But first, what is psychological conditioning in
general? Uh, it is a psychological term for a
process called associative learning. Associative
learning is when a person or an animal learns
to associate or connect two ideas, events, or
actions. So, for example, a person who has
learned that exams are stressful can feel stress
simply by thinking of exams. Or a wild animal that
finds food in garbage cans will learn to associate
all garbage cans with food. Classical conditioning
is similar, but it is based on controlled
experiments.

Now, going back to Pavlov, he used dogs in his
experiments. In his first experiment, he taught
dogs to respond to a signal. '*First, Pavlov
introduced a sound, which was the sound of a
whistle. "3PAfter making the sound, he gave the
dogs the food. He did this several times. Soon,
the dogs learned to associate the sound with
food. '®®So whenever Pavlov made the sound,
the dogs responded because they expected
to receive food. They responded to the sound
even when there was no food. Next, Pavlov tried
something else... Uh, he continued to make the
sound, but he did not provide the dogs with food.
At first, the dogs responded to the sound. But
they lost interest in the sound because there was
no food. '**Eventually, the dogs did not respond
to the sound at all. This clearly proved that the
dogs had learned to associate the sound with
food. And Pavlov realized that the sound was not
really important. The dogs were only interested in
the sound because they associated it with food.

This led Pavlov to make several conclusions
about conditioning. First, before conditioning,
the dogs had an interest in food. At the same
time, they had no interest in the sound. Second,
during conditioning, the dogs developed an
automatic response to the combination of a
sound and food. Third, after conditioning, the
dogs had an automatic response to the sound
itself. "However, when the food was taken away,
the automatic response to the sound gradually
disappeared. His conclusions make sense, no? |
mean, they are very convincing...

Still, Pavlov continued his research. And he
found out something else. *When he repeated
the experiment a second time, the dogs learned
to associate the sound with food much faster.
This suggested that the original conditioning
was not completely gone. Somehow, the dogs
“remembered” the original experiments.

Later, Pavlov used other signals besides sound.
And, in each case, the experiments produced
the same result. So Pavlov concluded that dogs
could learn to associate any signal at all with an
item that they wanted, such as food.

Now, imagine doing a simple experiment. Let’s
say that you give people the option to choose
between two colors: green or orange. Whenever



people choose green, they receive money. And
whenever they choose orange, they receive
nothing. According to classical conditioning, most
people will learn to choose green because they
associate the color green with the money. SAnd
the color that you use isn’t important. Just like in
Pavlov’s experiments, the signal is less important
than what it's associated with. Therefore, if you
use the color blue instead of green, people will
choose blue because they associate it with the
money.

: Yes, | get it. But this conditioning seems like
common sense. Why does this kind of learning
have a special term? And why is it called
classical?

1 18Actually, | think it only seems like common
sense now because Pavlov’s experiments proved
it first... It wasn’t so obvious before... And there’s
a good reason we call Pavlov’s work classical.
Since then, other forms of conditioning have been
discovered. But we’ll discuss those next time...
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P: However, when the food was taken away, the automatic
response to the sound gradually disappeared. His
conclusions make sense, no? | mean, they are very
convincing...

17 m== ol OfA| Lot=rt:

P: His conclusions make sense, no?
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